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�������$����� %��>��	�8���� ���� 3��	�� �%2�?�45652�

644�=2��� $2�@�A5�&�2�
�
� ������()�� B��������C� ?� �% #��� ����� ��� 1�$�� ��� � �� ����

� %��>����-���������"��.�����()�����/ 0%& �����& � �>�45652�
D
� �%����������2�/��$����2�.�����/�����2E�
�
62���-����?����� $�?�/�%� (F�����& � �2�42���-����?� ���%� �����

��& �$� ?� ���� $2� A2� �%� %�� �'&% &�� ?� � %��� B�	C2� ;2� �����()��
���= �� �%�$�?�� %���B�	C2��2�	,��$�2�

�
/���A5<2:9G5:6�
/���A6G2A;HBI62:6I;6;C�






�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

���������	��	
���
�����	���������
����������������������������������
������
�������

���������
�������
������
������

���������������������
���
��������������
��������

������������
����
����������� �����
�������

��������
��������������
���!����"�

���#��	�
�$�
��
�����%�
&�2�

�



	��	����������


�%�� �� (F�����������������& � ��&�%�� +�,���������������%#�$# ��%������������*� ��>�

����*�� ���J�������� %K��-��� �)����&������ $K��������&�%*� ���2�

��� ���-����� � %���� ������
�8�����	>� *��� ��� ���� + $ ���� ��  %-������ %��

����������������� + $ ������������%#�$#����������%������*� ��2�

L���&�$��	'&% &���������$�������&�()�����= �� �%�$���	�&%�$"- &����������.�����>�

����$�&�$�������+�$K�>���$��$ &�%(�������*��$ = &�()�����= �� �%�$2�

���� ���=�������� ��� ���-����� ��� �"��-�����()�� ��� / 0%& ��� ��&� �� �� ��� ���=������

��% $�� ����&M� ��� ���-����� ��� �"��-�����()�� ��� ���&�()�� *��� &������ $K����� &�� -��

����%���� ��� �������>� ��� ����& �$� �� ���� ���=������ �� �%�����>� *��� ���� & ���� ���

����%#�$# ��%��� ������ ���*� ��>� &�%� ����%��� � %K��� ���� + $ ������ �� #�$�� 3�%��� ��

���+$����*��������+ $ 3��������������%#�$# ��%���������!���2�

���*� �������-"- &�������&�$��	'&% &���������$����� %��>������&�$�-���������+�$K�>�

��$����&��� # �����������!���>�%��� ���% + $ ��������=��%�&��������������&� �%��������+ �%���

=�#��7#�$�����������*� ��2��

���� %��-��%�������-�����������*� ��������&�$��	'&% &���������$����� %��>�1�$+��>�

���& ����N�)��/��$��>�*���&�� -������%#�$#����������*� ������$����"� �����������!���2�

���.�����������*� �����������	>���$,� &������&�& �%� ������$�()��&�������+���?�

.������������# ��%�����-�����"��-��$�������& �$�?��=��� �>�%������������&����%K� ���

��� ���#�%���>�*������ #����������&��()��������+$�����*� ����*� ����2�

���� �� -��� �� =�� $ ����� *��� ��� �&����%K����� �� &�%�� +�,���� %����� ������ ���

�������>������&�%���������� �>�*��>�%��&�%� ()�����&����%�������&������&����&�$�� ����>�

������� %#��� ���������� %K��=����()���&��0� &�2�

��� ����& �$>� ���� �$�%��� �=���+��� $� ���� ���� &������ �'&% &��� ��� ��&�$�� 	'&% &��

�������$����� %��>�*������%����%������� ���% + $ 3�������&������ $K�������������!��"� ������

# ��������������%#�$# ��%���������*� ��2�
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���������/�%������������()�����= �� �%�$��

�����������/�%�����������$�������&�()�����= �� �%�$���	�&%�$"- &���

���	���/�%��$K����& �%�$�����%-�%K�� �>���*� ����������-��%�� ��

���
��/�%��$K��������&�()���7� &���

������/�%��$K���������$�������&�()���

���	�?�/�� ��)���%���%��������#�%()������& ��%����

������/�%��$K����& �%�$�������&�()���

�6	������&�()�����N�#�%�������$�����

��������J������& �%�$�����%� %���'� ��

�	���	�
����%��()������������O����*� ���������������������.������

���������%����������$�������&�()�����= �� �%�$��

����
�
�����()���% & �$���/�%� %��������	��+�$K�������

�����
�
.�����������*� �����$,� &����P+$ &�������$�()��&�������+����

��������%�� ��������� $� ������.��-��= ���������,�� &��

������� % ��'� ��������&�()���

����������.�������

�����
�����-���������J��%�)��������&�()�����= �� �%�$��

������������-������% #��� ����������	�����

���
���� ����� ���� 3�����������������&�()����& �%�$���

����������
����&����� �����/ 0%& ����	�&%�$�- ��������������������.������

����������&����� ������������������&�()���

���	�������# (����& �%�$��������%� 3�-���/����& �$��

���	�
�����# (����& �%�$��������%� 3�-����%����� �$��

����	�����% #��� �����������������������.�������

�����?��% #��� ��������/� �+7�
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������ ���*� ��� ����������� �� =����()�� ���= �� �%�$� ���� �=���+��� $� ���� �� ���
���� + $ ������ ���  %&$��)�� ��& �$� �� ���� �� ��� ����� %����� #��2� �� � ����%#�$# ��� &��� �$�%���
�=���+��� $� ��������&������ �'&% &��������&�$��	'&% &���������$������% &,� ������ %����	>�
���������������(��&���� -% = &�� #���������%��()������=���+��� $� �����%����������� &�$����>�
���'�>� &��� �$��� ,%� &�� ��� ��� ��0%& �� �� ����#� ����%��� ��� -��$� *��%��� &���������� ����
���� �� �$�%��2� �� =����()�� ���= �� �%�$� '� �%��%� ��� &���� ���� &�%����()�� ��� $�%-�� ���
���!��"� �����# ��>�=�%����%�����%��������������/$�������+������*������ ��%� ��������& � ����
���= �� �%� �����&�%�� �����������&��������$�������$�(F�����& � ����������!��"� �����# ��2������
��� %����� #��>� &�%� �������� �� ��= % ()�� ��� ������� Q�$$>� ��� *��� ���  ��%� ������ �� ��  %&$��)��
��& �$����-���������� ��- %7� �������$� �����*���=�3�����������!��"� �����# ��2�����=����()��
���= �� �%�$� ��� �=���+��� $� ���� ��-��� ��  �� �� ���� �������� ��� /��$��� Q���%+�$-� ��� *��� ��
��& ���� '� ������ %�%��� ��� ��� ()�� ���� �=���+��� $� ���� %�� ���&���� ��� ���+�$K�� �� ��� ����
&�%� ()����& ��&�%R� &�2���� �>������*� ������7���-�% 3���������� �������0��� J�����"� &������
���&�%&� ��� �� � �&� � %�()�� %�� &�%��J��� ��& �$� ���� �=���+��� $� ���@� � ��%�F��� ���  %&$��)��
��& �$�������%���������+�$K�@��� ��%� ��������& � �������= �� �%� ��%��=����()�����= �� �%�$2�
/�������&���������%���# �������� �����������������%#�$# ����&����%3���=���+��� $� ���>�%���
*�� �� =����� ��� #����� �� =�$��� ���� ����&���� *��� &�%� ������ ��$�#�%���� ����� ���� =����()��
���= �� �%�$>����3�%����������(������=��,$ �>������&�$�>����&���% ����>�������+�$K����������>�
���-������ %����� #��� ���� *�� �� �+��#������ ��� ��0�� &���-�� ��� ��� �%7$ ���� ���� �=���+��� $� ��@�
����(��� ��� =����()�� ���= �� �%�$@� �� ������&� #��� �� ���� + $ ������ ���  %&$��)�� ��& �$2� ���
�%7$ ���� ���� %����� #��� �������� *��� �� =����()�� ���= �� �%�$� ������� �$�%��� ���� ����
� -% = &�� #�� %=$�0%& ���������&�%� ()����������=���+��� $� ��>��������&�()�����= �� �%�$����7�
��= % ��� &���� ��� ����(�� ��� �+��%()�� ��� &�%K�& ��%���>� �������%��%��� �� �� ��  �� �� ���
 %&$��)����& �$����*���������= �� �%�$ 3�()�2��



��$�#����&K�#��������()�����= �� �%�$2��=���+��� $� ��2��%&$��)����& �$2������� #��2��
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� �%������  %#��� -�& "%��������� "�$��=����& "%����=�� �%�$����$����=���+��� $�S���T�$���
��� + $ ��������� %&$�� "%���& �$������� ���������%����� #��2������������$$�����%��$��%����=���
+��� $�S������$���&�������'&% &������$����&��$��	'&% &���������$���$���% & � ������ %����	>�
���������%�����& ��&�%�� -% = &�� #���������%��& "%�����=���+��� $�S����%����$������� &�$����>�
%���+���%��>� &�%��$��� ,%� &�������� ���%& ��T� ����#�&K�� �%������ -��$� � � &������������ $���
���7���$��%��2����=����& "%����=�� �%�$�����%��%� ���&�����%��&�%����&& "%���$��$��-�����$��
���T�&��� �� ��� # ��>� =�%����%����� �%� $��� ����� ��� ��� /$����� ��+��� �%� *��� $���  ��%� ������
��& �$��� T� ���=�� �%�$��� ��� &�%�� ��T�%� ��$� ���&���� ���$� ��� $��� ��$�& �%��� ��& �$��� T� ��� $��
���T�&��� �����# ��2������ $���%����� #��>����&�%� ����� $����= % & "%�����������Q�$$>��%�*��� $���
 ��%� ������ T� $��  %&$�� "%� ��& �$� ���-�%� ��� ���  ��- %�� �� T� ��� $�� $�&����� *��� ���$ 3�� ��� ���
���T�&��� �����# ��2����=����& "%����=�� �%�$�����=���+��� $�S���� -���$�� �������$�������� ���
���/��$���Q���%+�$-��%�*����$���& ������������� %�%������$����� & "%����$����=���+��� $�S���
�%� �$� ���&���� ��� ���+�!�� T� ��� ��� &�%� & "%� ��& ��&�%"� &�2� ��,>� $��  %#��� -�& "%� ���7�
��-�% 3���������� �����������!�����"� &�����$����!� & ��T�$��� �&� � %�& "%��%��$�&�%��J�����& �$�
���$����=���+��� $�S��@�� ��%� �%������ %&$�� "%���& �$�T��$���%�����$����+�!�@��� ��%� ������
��& �$��� T� ���=�� �%�$��� �%� $�� =����& "%� ���=�� �%�$2� /�%� �$� ��&����� ��� �%���# �����
��� �����&�������� �������$$����� &�%� �%&�� �=���+��� $�S��>� �%� $��� &��$��� =����%� ��� #����� ��
K�+$��� ��� ����&���� *��� &�%� ����%� ��$�#�%���� ����� ��� =����& "%� ���=�� �%�$>� ���T�%��� $���
����& ��� ��� $�� =�� $ �>� ��� $�� ��&��$�>� ��� $�� &���% ���>� ��$� ���+�!�� T� �����>� ����& ��� ���
=����& "%����=�� �%�$>�T�������&� #���T���� + $ ��������� %&$�� "%���& �$2������%7$ � �����$���
%����� #��� �������%� *��� $�� =����& "%� ���=�� �%�$� ��� ����� �$��%��� � �%�%� �%�� � -% = &�� #��
 %=$��%& �� ��� ��� &�%� & "%� ��� ���� �=���+��� $�S�>� T� $�� ���&�& "%� ���=�� �%�$� ���7� ��= % ���
&���� �%� ����& �� ��� �+��%& "%� ��� &�%�& � �%���>� �������%��%��� �7�� $��  ���� ���  %&$�� "%�
��& �$����*���������=�� �%�$ 3�& "%2��
�
��$�+����&$�#��������& "%����=�� �%�$2��=���+��� $�S�2��%&$�� "%���& �$2������� #��2��
�
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�� ���7� &�� ���� ��$�(F��� ��& � �� ���� -�%K���� ����(�� � -% = &�� #�� %��� �������� ��

��$,� &���%�& �%� ��%���P$� �����%�����&���� =���%�����+����-�%�2����&�%��J��������& ������

&�%������Y%��>� �%��� ��� �=���+��� $� ���� &�%# #��� &��� ���� &�%� ()�� ��& �$� ��� ��$�(F���

��& � �� ���&���� ��$��� ��� -��$������ �� �� ���&�%&� ��� ��& �$>� ��� �� &���� &��� ��  ��7� �� ���

Z����&��& �� ��& �$[>� �� �����%��� ������� ���� &���� � J�� ���7� &�� ���  %�������� �%�$ ���� ��

=����()�����= �� �%�$� ��� �=���+��� $� ���� &�%����,��� %�� ���� ���!��"� �� ��� # ��>� %�� ����(�� ���

=��,$ �>�������+�$K�>����&���% �������������&�()����&�$��>�&�������+'���%�$ ����&���������

&�%����()�����= �� �%�$����7�����������$������� + $ ��������� ����� %&$��)����& �$2�

�����()�����= �� �%�$�'��*� ��%��%� ���&����������&����� ���*��>� ��-�%���/$�����

��+��6� B455<C>� &�%�� ��������  ��%� ������ ��& � �������= �� �%� ��&���+������� ���!��"� ������

# ��>������-�% 3�()�������%������ ���+�$K������� =����()�����= �� �%�$���&�$��2���=����()��

���= �� �%�$���&�$�����������������(������%� %������� ��>�&������&���������-�����()���8������

%,#�$��'� �>�&������&�������'&% &��2�

	��+'�>� ������ � �� $ 3�%��� �� ��%�� %�()�� �=���+��� $� ��4� ����� ��� �������� *��� ���

���� ��%� = &���&����������������������-�%���%���%&$��������������$���%�� ��������� $� ������

.��-��= �������,�� &��?���.���>����������$�%��>�*���%��= &K���������,&�$�������&�$��	'&% &��

�������$>�������� ��%� = &�����&����%�-������������2��

� %K������()�����= �� �%�$�%����&�$��	'&% &���������$����� %����	>��&����%K�%���

����$�%��� %-����������-�����������&�������'&% &��>�$�#�����������&�+����������%������+$���2�

�� �������%��()�� �����,�� &�� ���� �=���+��� $� ���� %����� ��&�$�� ��%�'�� ���� �'� �� ��� ;4\>�

���&�%���$� �����%����%��� ��� � #�>� ���'�>� &��� ��� �$��� ,%� &�� ��� ��� ��0%& �A� ��� *��� ��

��� ��0%& ���%��������$�%����=���+��� $� ����'�� -% = &�� #���%����� ������*����%����������� ��

�$�%��>� ������%��� ���� � ���()�� ��� ��� -��$����� ��& �$2� ������ ������ �+���#����� ���

 %&������� �� $�#����� ��� ��-� %���� *����F���� /���� ��� �=���+��� $� ���� &�%�� ����� ����

=����()�� ���= �� �%�$� ��� $�%-�� ��� ���!��"� �� ��� # ��]� V��� ��%� ��� �� ��$�()�� ������ �$�%���

�������������������������������������������������
6���& "$�-��&�%������Y%���*�����&��#����+��������& �$�- ����������= ��F��2��
4�/���+����%�� ��%� = &�()���� $ 3������$���%�� ��������� $� ������.��-��= ���������,�� &��?���.���� $ 3������������
Z&�������(�[>�&�������$���%�� #���������$�>�+��%&�>� %�,-�%�>���������������2�/�%� ����%���*����� ����������������
=� ���������� �����������������.���-���������Z������[������Z������[�&����Z%�-���[����Z�=���+��� $� ���[>�%�����
���*� ��>���= % ����������-�������-�%��������>�Z�=���+��� $� ���[2�
A������ ��0%& ��'�*��%������$�%��%)��&�%&$� ����&�����%��*��$�����#������ &�$���2���
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����+�$�&��� &��� �� ���&�()�� ���= �� �%�$]� /���� �� ���&�()�� ���= �� �%�$� ��� ������%��� %��

&�%����()����� ��%� ��������& � �������= �� �%� ����������$�%��]��


��$���,%� &�������� ��0%& ���%��������$�%����=���+��� $� ����'�������+$�����+���#����

%�����&�()�����= �� �%�$>� ���'�>� ����� '� ���%��� �������� ������� *��� &�%�� ������� ���!��"� ��

��& �$���������$�%��2���������%� ��>���&�%� ����%��������������������%(� ����+���B455AC>�%)��

&�+�� ����%��� ��+������ *���� �)�� ��� �������� *��� ���)�� ��� � ���(F��� ��� �J&$��)�>�  �������

���+'����+���&������������������$ ����&���������� ���(F��>�&���� ������=$������������# ���2�

	�������� ��� +��&��� %��� ���!��"� ��� ��& � �� ������� �$�%��>� ����&���� *��� ���� & ���� ��� ����

=����()�� ���= �� �%�$>� &�%�� �� %��� %����� #��� ���  ��%� ������ ��& � �� �� ���= �� �%� �� �� ���

 %&$��)����& �$���$�����&�()�����= �� �%�$2�������&�%��J��>���=����()�����= �� �%�$������=���

+��� $� ���� ��� &�%�� �� � ��� � J�� &�%���$� ������ ���*� ��>� �%��%� ��� ����� �$'�� ��� ���&�()��

���= �� �%�$���&�%�� ��,������$�%-��������!��"� �����# ��>������� �����#�� 7#� ����$�& �%��������

���&�%&� ��� �� � �&� � %�()�� ��& �$>� �� ��+ �%��� =�� $ ��� ��� ����� ����&���� ��& � �� ��

�&�%R� &��>������&�$�� �������������+�$K�2��

����*����F���*��� %&�������*��%������������%��()�������=���+��� $� ����%�����&�()��

���= �� �%�$>� ��� &�%&� ��� ��� =����()�� ���= �� �%�$� �� ��� �J&$��)�� ��& �$>� ���-�>� �%�)�>� ��

 %�������� ��� �����%��� ���*� ��� ��� &�%K�&��� �� �%�$ ���� �� =����()�� ���= �� �%�$� ���� �=���

+��� $� �����$�%�������&�������'&% &��������&�$��	'&% &���������$����� %����	>�&�%� ����%���

�����  ��%� ��������& � �������= �� �%� ��&�%����,������� $�%-���������� ���!��"� ������# ��������

���� + $ ��������� %&$��)����& �$���$�����&�()�����= �� �%�$2�

�������%��>���������+�$K��&�%� ��������0������&��������� %#��� -�()��*��%�����=����()��

���= �� �%�$� ���� �=���+��� $� �����  ��%� = &��>� �� ���� �� ��� ���!��"� �� ��� # ��>� ����&���� *���

���� & �������&�%����()���������=����()�����= �� �%�$@�&�%K�&�������$�()�������=���+��� $� ����

&�������=����()�����= �� �%�$�������%�$ ���������%� ����*��������+ $ 3�������������&�()��

���= �� �%�$@����%�$ ����������� + $ ��������� %&$��)����& �$�&��������&�()�����= �� �%�$2


/�%� ����%�����K ��"� �������=���+��� $� ���>����&���&���,�� &���%����%���������+�$K�>�

���&�%&� ��>� �&�%������ ��� -��$����� ��& �$>� ��� ��$,� &��� &����%���"� ��� �� ��� �����()�� ���

 -��$����� ��& �$>� !��� = &��� +��&��� ���������� �� ���3��� ����� �� ��+���� *����F��� ��=���%���� ����

�=���+��� $� ���� �� ���� =����()�� ���= �� �%�$� �� ���� �� ��� ���� ���!��"� �� ��� # ��2� /�%� ������

����&������"�� ��>�&��������� -��$��������������% ������%�����&�()����&�$�����%�����&����

��� ���+�$K�>������&�%&� ��� �� ��� �&� � %�()�>� ��� &���&���,�� &��� ��& � �� �� �&�%R� &����������

�$�%��>���� ��&����&�%� ����������� ��%� ��������& � �������= �� �%� ��&��������&�%����()��
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��+!�� #�>� ��� *��� &����  %� #,���� �-�� ��� ���-�� ��� =����� � =���%��� O��  %=$�0%& ��� ��� �� ��

��& �$���������������%����� #����������&����*���&�%� �����%��&�%�� �� ()���������� ��%� �����2��

�� ���*� ��� =� � ����%#�$# ��� �� ���� �� ���� %����� #��� ��� �%3�� �$�%��� �=���+��� $� ���>�

��� ���%���� �� �-������� ���� &������ �'&% &��� ��� ��&�$�� 	'&% &�� �������$� ��� � %����	2� ���

%����� #��� $ -����� ��� &�%��J������ =����()�����= �� �%�$��������*� ������ =������%�$ ������ ��

���� �� ��� ���� �+����-���  %����& �% ���>� *��� &������%��� ��  %� #,���� &���� ��& �$��%���

&�%����,���%�������$��� %����(F�����& � �2�

�� +���� ��"� &�� �� $ 3���� ����� ��� �������� ���� Z ��%� ������ ��& � �� �� ���= �� �%� �[�

�����%������%�� ���� �������+��� B455<C>� &�%� ����%����� &��������&�%����()�����$>����&����

��$������&������ ��$�& �%� ����+ �-�7= &��>������!�>����� ��$�(F�����& � ����������� ���!��"� �����

# ��2�	��3�%������������$ ����>���$�(F����+!�� #�������+!�� #��>��%����Z ��%� ������*���$K���)��

��� +�,���� ��$��� ������[� �� Z ��%� ������ *��� �)�� ����� ���� �� �� # %� &����� ���� � � �����[@�

Z ��%� ������ K�������[� �� Z ��%� ������ # �����[@� �� �J��� 0%& ��� ������& �%����� %��� ��$�(F���

��& � �� �� �J��� 0%& ��� ��� ���&�%&� ��� �� ��� -��$����� ��& �$� *��� �)�� ��"�� ��� ���� ���� �=���

+��� $� ��2� ����� ���+�$K��� &��� ���  ��%� ������ &�%����,���� ��� ����� %����� #��� �� ���

���� + $ ��������� %&$��)����& �$>�&�%� ������������������������������Q�$$;�B4555C>������� �����

&�%&� ������*����� ��%� ��������-��&�����%����� #��*������������=�3����� >�������� ��- %7� �>�

���$� �����*���=�3�����������!��"� �����# ��������*���'�� -% = &�� #���������  ��-������� �*���

*����������2�

����� =�$��� ���� �=���+��� $� ���>� �$'�� ���� ������ �����,�� &��� ���  %� &������� ��& � �>�

+��&�� ��� �������� &���� /��$��� Q���%+�$-<� �� ������>� �������� *��� �����%���� ��� �%7$ ���� ���

&�%� ()�� ��� ���� �=���+��� $� ��� &��� �� =����()�� ���= �� �%�$>� ���  %=$�0%& �� ��� ��& ���� %��

�&���()�������=���+��� $� ����%�����&����������+�$K�����������&�%� ()����& ��&�%R� &�2�

�� ��-�% 3�()�� ������ ���+�$K�� ��� &�%�� �� � ��� ��0�� ������2� ��� �� �� ��� ������%��� ���

����&���� ��� #������� *��� ��� ��+ $ 3����� ��'� �� &�%����()�� ��� ���!���>� �%#�$#�%��� ���

 %� &���������& � �����&�%R� &��������=���+��� $� ���@�����-�% 3�()���������$,� &������� �����

���&�()�� ���= �� �%�$� +��� $� ��@� �� �� &�%��J��� ��� ���*� ��� ���,� &�� &��� ���� +��#��

������%��()�������% &,� ������ %����	��������&�$��	'&% &���������$>��+!�� #�%�������������

�������������������������������������������������
;� ��& "$�-�� &�%������Y%��>� ������� ��  ��%� ����� �� ���� �� ���� ����(��� &�$���� �� %�� �"��� �����% ����2� 	��3� ��
���&�%&� �����& �$������%����� #���������������������+��� ��%� ����2��
<���& "$�-��&�%������Y%��>����*� ����������� = &�()������� -��$��������& � �>����&�()�������+�$K���������$�(F���
��& � �2��
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&�%��J��� ��& �$� ��� *��� # #��� ��� �����-�% ����� ���� %����� #��� �� ����� �������%��(F��� %������

����(��2�

��� ��-�%��� ������ ������%��� �������� �� ���� ��� *��� &�%�� ����� ��� ��0�� � J��� ��"� &���

��-�% 3�������� ��� ����&����  ��%� �7� ��� ���� �=���+��� $� ���� �� ���� �� ��� &�%&� ��� ��� ��& ���>�

���&�%&� ��� �� � �&� � %�()�@� ��  %&$��)�� ��& �$� &���� ���� �������%��()�� ��+!�� #�>� &����

���$ �()�� ���� ����(��� ��& � �� *��� # ���� %�#��� &�%K�& ��%���� �� ��&�%K�& ��%��@� �� ��

=����()�� ���= �� �%�$� &�%�� ��,��� �� &�%�� �� %��� ��� ���!��"� �� ��� # ��>� %�� ��$�()�� &��� ���

 ��%� ��������& � �������= �� �%� �2��

��� ���&� ��� ������ ������%��� �� ������$�- �� �� $ 3���� %�� ���*� ��� �� *���� �)�� ���

�����-�% ���������%����� #��2�/�%� ����%�������+!�� #������������������3�%��������� ����������
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����$ 3������>� ���# %&�$����� ��� ���&���� ��� ���+�$K�2� ��� 69A4>� �� ���&�()�� ���= �� �%�$�

# %&�$����� O� $"- &�� ��� &�� ��$� �� ���+�$K�>� #�$��%������ O� =����()�� ��� ����& �$ ����2� ������

��-�% 3�()�>� &��� =����� ����&������$>� ��"������ �7� ���� �$�%�� ��-� ���������. %7� �66� �%���

��&�+ �� ���� =����()�� �'&% &�� �J&$�� #�� ����� ������ %��� �������� ��&�%�7� �� �� ���& 7� �� ���

�&�%�� �>������-� ���������������0�� &�>�&�������=����()��*����������#�����$�%���������

�%� %������� ��2�
�������������������������������������������������
66� . %7� �� ���� �� ��&�$�� ����� �*� #�$�%��� ��� *��� K�!�� ��%�� %����� &���� Gc>� Hc>� :c� �� 9c� �%�� ��� �%� %��
��%����%��$2��
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���69;4������&�()�����= �� �%�$���������=�3�������������%� %���'� �>������ %���&���

��� &���,&�$�� �� ��� #�$����� ��� &����� ��� ���+�$K�>� �%�)�>� %)�� �������#�� �� �$�%�� ����� ��

 %-������%���%� %������� ��2��������� ���������% =����(F��������*������%� %�����= �� �%�$�

���� + $ ������ ��  %-������ %�� �%� %�� ����� ��>� &���� ���+'�� =� � ��� ���,���� ��� -��%���

�J��%�)�� ��� ���&�()�� ���= �� �%�$>� &��� �� �+������� ��� �����64>� ����/6A� �� ��� ��&�$���

	'&% &��� ������ �6;>�  %�� �� (F��� *��� &�%� %���� ����%��� %�� =����()�� ��� ���= �� �%� �>�

���%��%��� �����&� #���%��� �� 7���� ���  %�P��� �>� ��� &��'�& �� �� ��� �-����&�7� �2� ��� �%�� ���

69G6>�&��������6<�;254;869G6>����&���,&�$�������&�������'&% &��������������0�� &��-�%K���

�*� #�$0%& ��������-�������������&�()�����= �� �%�$������ ���&�%&������O��#�-�������%� %��

����� ��>�����%������ &������� -��$�����&�%� %��#�2�

������,���� ���.�#��%��� $ ���>� &��� �� �%������ ��� &�� ��$� �����%-� ��� �� �� ��#�$�()��

 %����� �$>� ����- �� �� %�&��� ����� ��� �� �� ���= �� �%� �� *��$ = &����>� �� �� ���&�()��

���= �� �%�$� ������ �� ���� �� P% &�� ����$ ����� ��� �%� %�� �'� �� %��� ��&�$��� �P+$ &��2� �� �

���+'�������$���%�� #�������� � %� ��������%���%�����&��������#�-���%���&����������� ����2�

�����������������-�%���$ 3������%� %�����= �� �%�$� ���-��&���������<G94869H6��� ��#�� = ��

&���������&���HG869H<���������H25;;869:4>�*��������+�$�&�������&�()��.���$2��

��-�%��� b��%3��� B6999C>� ��'� ����� ���,���� �� ���&�()�� ���= �� �%�$� ��#�� ����

����-�- ��*����� �� 3�#������������=�3�������� �& �$ %���%��2���������$�- �������&�%��P����

�����=��-��%�����>� % + %�����*���� �%���%������������# -�%������ ��& �%�%����������������

��������# �������&����������+�$K�2�/�����-$�+�$ 3�()��������&���>���&���&�%��� %&������()��

& �%�,= &�� �� ��&%�$"- &�>� �� %�#�� ��-�% 3�()�� ��� ���+�$K�>� %�&��� ��� ��� ���� %�#�� ����-�- ��

����� �� ���+�$K�� *��� =�����������= �� �%�$� &���3� ��� ����������� ���� =���%���� � ���(F��>� ����

=$�J,#�$>� &��� &���& ����� ��� &���% &�()�>� ����%�� �� ����� ����$#��� ���+$����>� ���� & ����>�

'� &�>�&� �� #����&�������� ��2������'������= �� �%�$�*��������&����������+�$K������$�+��&����

*��� �� ���&�()�� ���= �� �%�$>� &���� =�3� K ���� &���%��� ���%��� �� ����%��� ��� ���&���� ���

���+�$K��������F�������=�����2��
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�������������������������������������������������
64����# (����& �%�$��������%� 3�-����%����� �$�?� %��-���������69;42��
6A����# (����& �%�$��������%� 3�-���/����& �$�?� %��-���������69;G2��
6;����-������69;G>������� ��������&�$������
=,& ���������2��
6<��� ����� ���� 3�����������������&�()����& �%�$2��



�

�

��

�� 	
�#".%@0$
�'$A(  ($-%,
-%
%!"%,(#%#�





���� ����� ����J ������%���������'&����>� &������� �92A9;>����45������3��+������

699G>� *��� ����+�$�&�� ��� � ���� 3��� �� ������ ��� ���&�()�� ��& �%�$>� �� �=����� ��� ���&�()��

���= �� �%�$�'���=����$���2�

�� ���&�()�� ���= �� �%�$� '� ������%����� ��� ��� &��,��$�� ����&,= &�� �� �+��� ��

���� + $ ����� ����� *��� ���� �=����� �&�%��&����� ���  %�� �� (F��� ��� �%� %�� ����& �$ 3���� ���

���&�()�� ���= �� �%�$>� ���� #,%&�$�� &��� �� ���&�()�� �7� &�2� /��� ����� �+������>� �� ��&�����

4245:����6H�����+� $����699H>�*�����-�$���%���������&�()�����= �� �%�$�%������92A9;>�� ����

�� �+� -���� ������ ��� # %&�$�()�� ��� ���&�()�� ���= �� �%�$� ��� �%� %�� �'� �>� $�-�$ 3�%��� ��

&� �()�� ��� &������ �"���'� ��� �� �� ���� + $ ����� ��� =����()�� ���= �� �%�$� ����� ��� � =���%����

%,#� �������&�$�� �����&���&���������&���������()����� %�� �� (F�������%� %�����# %&�$�����

������&�()���7� &�2��������&�����=� ���#�-����%���%�����455;>�&�������&�����<26<;����4A�

��� !�$K�� ��� 455;>� *��� ��-�$���%��� �� ���&�()�� ���= �� �%�$� �� ����+�$�&�� ���� %�#��

���������()�>�#�$��%������&�������'&% &��� %��-����������%� %���'� �2��

����� ��� ��%� �%��>�  %�� ��& �%�$ 3��� ��  %��-���� ��� �(F��� ��� ���&�()�� ���= �� �%�$�

�'&% &�� ��� %,#�$� �'� �� &��� �� ���&�()�� ��� !�#�%�� �� ���$���� �� �� ���&�()�� ���= �� �%�$� ��

��&%�$"- &�>����-�����6G����!�$K�����455:>����� �662H;6>��$����%�������J��������� -���������

9A9;89G�*���������������&�()�����= �� �%�$>�= &�%��������&�������-� %�������()���




���2� A9c2� �� ���&�()�� %�& �%�$>�  %��-������ ���� � =���%���� %,#� �� �� ����$ ������ ���
���&�()����O��� ��%�F���������+�$K�>����& 0%& ���������&%�$�- �2��
d�6��
��&������������&�()�����= �� �%�$�����&%�$"- &�������)��������-�% 3���������
� J�����&%�$"- &��>����� + $ ��%�����&�%����()������ =���%���� � %��7� ���=����� #��>�
�+���#��������%��������������&� #��� ��������%,#�$�����%� %�2��
d�4�������&�()�����= �� �%�$�����&%�$"- &���+��%-��7������-� %����&��������
��?����=����()�� % & �$���&�%� %��������*��$ = &�()�����= �� �%�$@��
���?�������&�()�����= �� �%�$��'&% &�����%,#�$��'� �@��
����?�������&�()�����= �� �%�$���&%�$"- &�����-�����()�����"��-�����()�2��
d�A��
��&������������&�()�����= �� �%�$���&%�$"- &�����-�����()�����"��-�����()��
��-�% 3������)�>� %�� *��� &�%&��%�� �� �+!�� #��>� &���&���,�� &��� �� ����()�>� ��� �&�����
&��� ��� � ���� 3��� &��� &�$����� %�& �%� �� ����+�$�& ���� ��$�� /�%��$K�� ��& �%�$� ���
���&�()�2��
���2� ;52� �� ���&�()�� ���= �� �%�$� ���7� ����%#�$# ��� ��� ��� &�$�()�� &��� �� �%� %��
��-�$��� ��� ���� � =���%���� ������'- ��� ��� ���&�()�� &�%� %����>� ���  %�� �� (F���
����& �$ 3��������%����+ �%���������+�$K�2��
���2�;62�
�&�%K�& ��%�����*� � ���%�����&�()�����= �� �%�$�����&%�$"- &�>� %&$�� #��
%�� ���+�$K�>� �����7� ���� �+!���� ��� �#�$ �()�>� ��&�%K�& ��%��� �� &��� = &�()�� �����
������-� ��%������&�%&$��)�������������B������>�699GC2��

�



�

�

��


� ��&����� <26<;85;� *��� ��-�$���%��� �� ���&�()�� ���= �� �%�$� ����& = &�� ��

���%� ��%��� �� ���� �� ���� &������ ��� �����()�� �% & �$� �� /�%� %����� ��� 	��+�$K������@�

���&�()�� ���= �� �%�$� 	'&% &�� ��� �,#�$� �'� �@� �� ���&�()�� ���= �� �%�$� �� 	�&%�$"- &�� ���

.�����()��������"��.�����()�2�


�� &������ ��� =����()��  % & �$� �� &�%� %����� ��� ���+�$K������� �)�� ���� %����� ��

*��$ = &�������*��$ = &������+�$K������>� %����%��%��������&�$�� �������'# ���� %����%��%������

��-�$���%��()�� &��� &�$��@� !7� ��� &������ ��� %,#�$� �'&% &�� �0�� ���� �+!�� #�� ������& �%���

K�+ $ ��()�� ���= �� �%�$� �� �$�%��� ���� &�$����� ��� �-������� ��� �%� %�� �'� �>� ��%��� *��� ��

�J��� ()�� ��� � �$���� ��� �'&% &�� ���7� # %&�$���� O� &�%&$��)�� ��� �%� %�� �'� �2� ��� �&�����

&��� �� ��=�� ��� ��&����>� ��� &������ �'&% &��� ������ ���� �=���& ���� ��� =����� &�%&�� ��%��>�

 %��-����>������*��%& �$�����%� %���'� �2�

���=����� ��� &����� ��� =����� &�%&�� ��%��� '� *��%����� �$�%�� =�3� �� &����� �'&% &�� �� ��

�%� %���'� ����������������>�&�������,&�$���� �� %�������� %-������%��&������'&% &������

&���� ��'���*� � ��� �� ����,&�$�� %�� �%� %�� �'� �2� 
� �%� %�� �'&% &��  %��-����� '� *��%��� ��

���!�������&������'&% &��&�%����$�����&�%K�& ��%��������&,= &������=����()�����= �� �%�$����

&��������*����)�>�  %���&�$����&������&�%��P��������%� %���'� ����# %&�$����������P% &��

����,&�$�>����*�����=����()���'&% &��'����+�$K��������%��������0�����*�������%�������%� %��

�'� �2�
���*��%& �$�'��=���& ��������*����!7�&�%&$� �����%� %���'� �>� %&$�� #�������*����

!7��������������=����()�����= �� �%�$2��

�� ���&�()�� ���= �� �%�$� ���+'�� ���7� ��-�% 3���� &�%� ����%��� ��� � ���� 3���

/��� &�$����� ��& �%� �� ����� �� ���&�()�� ���= �� �%�$� ��� �,#�$� �'� �>� *��� �� �%���� ��

�$�+���()�� ���� ���!����� ��� &������ �'&% &��>� &����� ����& = & ����� ��� &���� 7���� ���= �� �%�$>�

&���&��-��K��7� ���,% ��������&����&����������&�%���$�������7- �������# � �%���2��

1 %&�$����� O� ���&�()�� ���= �� �%�$>� ����$��%��� ���)�� ��� �%����%��� ���!����� ��

���-������ ����� ���%���� ��� ����%���� ��& � �>� &���� �� ���-����� ��& �%�$� ��� �%��-��()�� ���

���&�()�� ���= �� �%�$� &��� �� ���&�()�� �7� &�� %�� ����$ ����� ��� ���&�()�� ��� N�#�%�� ��

���$���� ?� ����N�@� �� ���-����� ��& �%�$� ��� �%&$��)�� ��� N�#�%�>� &��� &������ ��� =����()��

���= �� �%�$� %��-�����������&�()���7� &�������!�#�%�����6:���49��%��>����%��%������!�#�%��

��+�%��� &��� �� ���N�#����+�%�� �� ��� !�#�%�� &����%����>� &��� ���N�#��/����@� �� ��

���-����� ���� $� ���= �� �%�$ 3���� *��� �+!�� #�� =����$�&��� ��� ������ ������� �� ��� ���&�()��

���= �� �%�$�����&%�$"- &�>��������%�����&������= %�%&� ������������J��%�)��������%� ��%��2��
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��� ��$,� &��� ��� ���&�()�� ���= �� �%�$� K�!�>� �����%���� %��� $�- �$�(F��>� ���-������ ��

���!����>�%)�������������*���=� ������&�()�����= �� �%�$�%���������&�����K ��"� &�2���������

���� =����� ��� �=����� �� ���� ����-�- �2� ���'�>� &�%� %��� �� ���%���� �� $"- &�� ��� ���&���� ���

���+�$K�2� /���� %�� $"- &�� ��� � ������ �&�%R� &�� &�� ��$ ���� '� �� ���&���� ��� ���+�$K�� *���

� ��& �%����=����()�������������+�$K����������J -���������*����������$ 3����������������O��

%�#���%�&��� �����>������&�()�����= �� �%�$����������%���&����������(������������=����()�2��
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��  %&$��)�� ��& �$� ���7� �����%��� �%*��%��� ���������� ���� ��$,� &��� ��� ���&�()��

���= �� �%�$� %�� ��,�>� *��� ������� �� ��& �$� &���� � J�� �� %& ��$� %��� ���!����� �� %��

����%#�$# ��%��������� �F����������# ��������� #�2������$��"� ��������$,� &�����+$ &����������

���&�()�� ���= �� �%�$� �� 	�&%�$"- &�>� �$�+������ ��$�� � % ��'� �� ��� ���&�()�� B������>�

455;>��2�:C>������&�()�����= �� �%�$�����&�����+!�� #��

�

��&�%��$ ��()������(F����=�� #���*�������%����%������=� (����%����������&��& �>�%��
��$K���*��$ = &�()�����& ���)�>�!�#���������+�$K����>�%������()��������� -��$������
��& � �� �� %�� ���� ���� & ��()�� &���� �-�%��� ��� ���%�=����()�� ����� &�%���� �� ���
����%#�$# ��%���%������ $2��

�

�� ���&�()�� ���= �� �%�$� ��� ������%��>� ��� ��� $���>� ���%��%��� O�� %�&��� ������ ���

���&����������+�$K�>��>���������>�������&�����& �$2����7�*���'�����,#�$����%��������� ��$����]�

/���� ����3 �� ��� ��� -��$������ ��& � �� &��� �� =����()�� ���= �� �%�$>� ��� �� ���+$���� ����

��� -��$������ ��& � �� %)�� =����� �����3 ���� ��$�� =�$��� ��� =����()�� ���= �� �%�$]� 
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�� =����()�� ���= �� �%�$� '� # ���� &���� ���� ��������� ������'- &�>� ���� ��$0� &�>� ����
���+$����� ������� ��$�� -$�+�$ 3�()�� �&�%R� &�>� ��$�� �����������()�� ������ #�>� ��$��
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��$�()������#�-����=�������2�������� -�����B455:C>���*������7�����= ���%���K�!��%�����&�()��

���= �� �%�$>� &�%� ����%��� �� ��������-�� �� �� ��� -��$����� ��& �$>� '� ���� =����()�� &��� ��

�����������������-�+ $ ����6G����%��%������ %Y� &�������%���������+�$K�2��

�

	�������� ��� ���� =����()�� *��� ����%#�$#��� ��� K�+ $ ������ +7� &��� %�� �$�%�� ����
&�%K�& ��%���>� �����3 %��� &�����0%& ��� ����� �� -���)�� ��� *��$ ����>� ����� ��
������ # �������&����� � # ����>���&�%��*��%����%��>�������� Z�����-�+ $ ����[2� e222f�
��� �� ����� �� %�#�� Z&K�#�� ��� ����[� ����� *��� ��� ��,���� K ���� &���%��� ��� -�� �� ���
�!�%������� ��� ��%��� -$�+�$ 3���� �� �� �����������()�� ������ #�� ��� =����� ��+���%�� ��
�� - %�$������ �%���������!���������������$,� &������Z�$�%�������-�[]�N7�%)��K7���%����
�����-��>���������������������=$�J + $ ����>���������-�+ $ �����B���.
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�����&�()�����= �� �%�$�'�������%������������ %� #,����&��������(������*� � ()�����

%�#��� &�����0%& ��� ����� �� �����-�+ $ ����>� &��� �� =�$���  �� �� ��� �+���� ��� ��� ��%���� %��

�����-����&�����������(������&�7� &�����������%#�$# ��%���K���%�2���������0��� J����)��

������%������������ -����>�*��>����������%�7�$��>�������������&�()�����= �� �%�$>�&������%��>�

%�����$ ����>�D���# %&�$������������������������&�7� &�����P+$ &���������%#�$# ��%���*���

 %��-��� ��� ���!���� �&�%R� &�>� ��$,� &�� �� &�$����$>� &��� ���� &$���� -���()�� ��� �����-��� ��

��%��E�B���.
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���= �� �%�$�&��������� �������������()������ �&� � %�()����������&�%&� ���%����%������
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��%���� ������ ��� � �� ���� K���%��� �� ���&�()�� ���= �� �%�$� ���7� ��� �� &�%#�&���� ��
&�%�� +� ��%���% #����$ 3�()����$#�3������ �� ������%�����*��$��&�!���J��&,& ������ ���
O�� �������� -�%K����� ���� ��"�� �� ��+� ��0%& �� �� &���  ���� �$&�%(����� � -% ����>�
���������� ��� �� ��&�%K�& ��%��� ��& �$� &���� ������ ������ #��2� 
� � �� ��� ��� ������ O�
���&�()�� ����� �� ���+�$K�� '� ���� ����� ��3)�� �� �� %& ��$� � J�� ��� ��$,� &�� ���  -��$�����
&������ %&,� ���� �%������������&�()�����= �� �%�$�B����/���/��8/����c�6G899>�
�2�45C2�

�

�� %&$��)����& �$�������()��������� -��$������%�����$,� &���������&�()�����= �� �%�$�

��&�%K�&��� *��� D��� ��� -��$������ ��& � �� �J ���%���� %�� ��,�� ��% =��������� &$�����%��� %��

� ��� +� ()����� ��%��>����+�%����� ���# (��>�%��� �&� � %�()�����-0%���>����&��>���� ��% �>����

�&����� 7� !��� (�� �� ����� �� ����K���%��E� B������>�455;>��2� 6;C>� ��������� ���������*���

������� D*��� % %-�'�� ���� � �� ���� ���= �� �%� �� ��*� � ���� ���� &����� ��� �� -��� =�� $ ��>�
�������������������������������������������������
6G������-�+ $ �����'�����������������������������()����*��$ = &�()����� %� #,���>����%��%������%�&��� ������
������&����������+�$K�2���#�����������%������ ���%,#�$�������������%(��>�����=$�J,#�$2��B���.
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 %� &�(F��� ��� �������� ���������� ��� �� # $'- ��� ��� &������(F��E� B����/��� /��8/��� �c�

6G899>��2�6GC2�������=����>������&�()�����= �� �%�$������������%�������������$-�������������

&���� ��� ����(�� ��� ������% ����� ���  %&$��)�� �� ������()�� ��� ���� &�%� ()�� ��& �$� ��

�&�%R� &�2����'�>���*������#�$�&��%����& ������'���$"- &��������&����������+�$K�>��%����"�

= &��� ��� �� �� ������ O�� %�&��� ������ ��� ���&���� ��*��$�� ����%��>� &���� ���+'�� ��

� �&� � %�()���������&�%&� ���*��������%�&���%�����$�(F�����& � �2��
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�# ��%& �� �� ���+$���� �� �%��� =� � ����%#�$# ��� �� &�$���� ��� �����2� �� ���� �� ������ &�%��J��>�
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V��%�����������&���������% &,� �>�#���������%����� %��� &���%����������&������& � ����

�&�%R� &��� ��# %���� ��� ���� &�$�% 3�()�6H� ��'� ��� � ��� ���� �>� &��� �� �+!�� #�� ��� ���3��� ���

&�%��J���*����!���������&�+���&�������&�%�� �� ���������$�()�>��>�%���������$�()�>�����=���

+��� $� ���2��������%��>�+��*�� �$� ������*����+��������������&�����K ��"� &�����&�$�% 3�()����

��� %Y� &��*������ #����� ���$ �������& ��&�%R� &��*���� %���������%��>�&���������*� ����

����%#�$# ���� ���� �� ��%� ��� �����>� � ���$�� � &�$ � �� ��� ������ � #�$-����� ��$�� ���=� �����

��% & ��$����� %�����.�#��%��������������������.�����2��
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6H� �� &�$�% 3�()�� �������F�� �� &� �()�� ��� ����  %=������������ �-�7� �� ����� �� ����%#�$# ��%��� ��� �-� &�$����>�
&���&��� 3�������� $����� ���� ������+�%���&��������������� % ����� #�>����# (��� �'&% &�����&���% �7� ��>���%���
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���% &,� ������ %��� %��-�������- )�����.��%�����& ��������3�%��>� $�&�$ 3����%��

��- )��������������������������.�����>���<5<�M�����&�� ��$�/� �+7>�O�����-�%��������6GA>�

��%� ���/� �+7���%���'�26:���&�$�% 3�()������ %���'������������$,� &���������������.�#��%��

� $ ����������&���()��������3R% �>�&������$�-�%�D�&����������%)���%���-��E2���-�%���� &�$ �

B455;C>����� %& ��$��+!�� #���������%��������3R% �� %��-�����������&������%� �$����J�$�������

-��%�������%& �$�%�����$>�����#'������&�%&���F�����������������-�������&�%R� &���%�& �%� ����

 %���%�& �%� �� ����� ������ �()�� ��� ������>� �����%��� �� �����>� ��� ������� ��#�$����>�  %�,-�%��>�

-� $��������� %���%)��K�+ �����2��

� %���'���������& ������������!������%�� %����.$�+��/�$����>����!�������&�$�% 3�()��

��� ���� 7���� ��� ����J ������%��� G;<�� $� K�&�����>� *��� ���+'������ �� -���O�� & ������ ���

/$��� �>���%���/�����>�1���>��% )�������$�����$ 3�����$2���������������7��������������������

/�$�% 3������� %����2�>���������*�������#��������69A:�%���+����������& ������%�����������

�������%72�����%�����69H4>����&�$�%���=�3������+������������� �� �����������&�%����()������

+����&���%��$�&�$��%���'�K�!��� %��2���-� %���������&������7� �����'��������%& ��()�>�����

=�%��()���&�%��&���%���%�����69H;>����69HG��������������� ��� ��������% &,� �����/K������

����.� ���)����>����6H������3��+������69H9>�&������� �;26<G8H9>�=� ��$�#����O�&���-�� �����

��% &,� �2�


������������*���&K�-�����%����� �� �����%�����"����&�$�% 3�()��# ����������- )��

��$������,�>���� #�������$��� %&�%� #���= �&� ������$,� &�������&���()�������- )�>�&�����%���

$����� ���� ��*����&����%K�#�����*� � ()�������� $������+�%�>�-���%� %���*������ ��� �0%& ���

��-�% 3������������(�����& ����2�	��+'�>���������%�������%�&��� �������������$�()�������

��"�� �� �&�%�� �>� �� ��- )�� ��&�+��� &����& �%���>� ������������ ��� ���# (��>� ���= �� �%� �� ���

��P��������&�()�>����+�$K�������+��(� �>��%����������2��

	��3�%����������������$������,�>���&�$�% 3������#�%� ���� �� �����*��������������*���

����#������ %���$�%������� %����������������+��%&�����&������= $���������������+�$K���������
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��� ��3)�� ��� �+�%�Y%& �� ��� ���� ��� �J ���%��� �� ����  %&�%� #��� = �&� �� ��� -�#��%��

=�����$� ����� �� �+������� ��� 7����� #�$����� O� �-� &�$����� �� ��&�7� �>� �� ������ ���� �� ��� ���

����+�$�&���&�������� %& ��$�=�%�������&�%�� �����%�#����% &,� �>�&������J���� # ��������

���+�$K�� ���  %�P��� �2� �� �)�� ��� �+��� %�� ������ ���� -��%��� �� %)�� �J - �� ��&�$�� ����>� �� *���
�������������������������������������������������
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��� #��� �� ���� ���+�$K������� �%�$=�+����� ��� &��� ���&�� ��&�$�� ����>� ��� ���$�&����� �����

� %������+��&����������-�2�
����,��������� ����=��������#�-����&�%��&���%����%���%�#�%��>�

*��%��� ��� <55� ���� �� ���� $�&�$ 3����� %�� ��% &,� �� �����-�#��� ��� �'� �>� 6<2555�

���+�$K������� B�
���>� 455;C2� ����� ���,���� &� %& � �� &��� �� =��&����� ��� &�$�% 3�()�� ���

��*��%�������� ����������� ��%���& ���������%��������� %��>���� #������$��=�$������&�%� (F���

��������()������������*��%����-� &�$�������>� &��������,���������� ���O�D=�+����������E�%��

%��������������>������&�%����*� >����-�� ����������- )������� J��������3�#���>���% &,� �����

�� -�������� �� ���������$�()�������������� �����+� ��������� %��2���%������ �>�-��%���

�������������$�()��*���#� ����������+�$K���%������������ �� ���%��������,���>�����&�����������

��������*���%)��&�%��-� ������� %���$���&����&����%���������%� *��&���&�����-�� ���-��>�

��+��&�#������+�$K�������������+��# #0%& ��������+��# #0%& ����������=��,$ ��269�

������ ���+�$K������� �)�� ������%������ ���� � &�$ � B455;>� �2� 6HC>� &���� D���+�$K�������

��������,���������- %�$ 3����>�*���+��&������� �����%�&��� ������+7� &��������+� ��0%& �E2�

��������������+�$K��*���%)���J - ����%)��������% 3������&�$�� ����>�$�#���������-���()�����

�J&$�,����������&�()����&�$��>������J��&��� #���������=��������$K��452���������$ �������=$����

%����&�$�� ������������$�()�������% &,� �2����������������.������%�����455546�'����������

*��>��%���������%,& ����&����� �����4<��%��>�65><�\��)���%�$=�+����>�A5\��0����%������;�

�%��� ��� ������� �� G9\� ��%��� ��� :� �%��>� &��� ���� �'� �� ��� <>G� �%��� ��� ������� �%���� ��

����$�()��*���=��*��%��������&�$�2��


� %P����� ��� ����$�()�� ��� ��% &,� �� ��#�� ���&���& ��%��� �� ��� �7� ��� ������ ����

&� �()�2�����%�����69:5>�� ����%������� ������+������������� �� ��������>�������$�()��!7�����

���692:96�K�+ ��%���>���K�!�>��� %������ ����%������� �>�������$�()��'����66<2555�K�+ ��%���44>�

= &�%��� �%���� ��� *������ �� ����� ��% &,� ��� ��� ����� .������ �� �� �� ��� ��� ��- )�� %����� ���
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����$K�%��� ��� *��� �&�%��&��� ��� ������� ��% &,� ��� ��� ��- )�>� �� �����()�� �-�,&�$��

��#��#7� ��� ��%��� #���*���%)��������&�������$�� =�$������&�%K�& ��%�������&���&���,�� &������

��$������$��=�$������ %&�%� #����P+$ &�������������*��%����-� &�$�����>����*�� �>�����&�%� (F���
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��- )�� ��$���� ������>� �� ����$�()����� �=���+��� $� ���� &K�-�� ��:5\>���*���%)�� �&�%��&��%���
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����������&�$�% 3������>������&�%���$��������$�()������=���+��� $� ����!7��������4H\>�4A\����

��������*������������&$�������&�������������;\�&����������2��
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�� ���� �������� *��� �+�%��%����� ����� ���!����� ��� D����������� ���� �E>� ��� �� D��%K�� ���
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���� + $ ��������� %&$��)����& �$���������=���+��� $� ���]�
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� ���&�%&� ��� �� �� � �&� � %�()�� ��& �$� ��� ������%���� ��+� � =���%���� =�����>� ���

� =���%���� ������� �� ����(��� �� &�%�� ����� ��� ��$�(F��� ��& � �� ��� *��� ��� �=���+��� $� ����

&�%������������ ��%� ������������=����()�����= �� �%�$2�

����= % ()�������$�#�����(�>���� ��&��������$�#���%�-��>���-�%����%��% ��.� ���)���

B455:C>� � #����� � =���%���� ��%� ���>� ��-� %��� ��� ���&����� K ��"� &�2� �� �� ����%��� �������

��$��� ��������� ����� ��� -%��� ��� �������� ��� ��$�� �� �� ��&���>� ���� �>�  %=$��%& ���� ��$���

���*� ���� ���� & 0%& ��� %����� �>� ������ �� ��� -%��� O�� �������� &��� &���&���,�� &��� + �$"- &���

 %=�� ����>� !��� = &�%�������&��# �)������ ��+� ��)�2���%��� ���&� �������%��>�'���������$���

��# ��%���� ��& � �>� &���� ������� -%�()�� ��� ��� ��#�>� %��� ����� $����� �� ��&�����()�� ���

������� ��2�

����& �$�- �� ���+�$K��&�����&�%&� ��������(��&��������&���-�� ��� �&��� #�>�  ����'>�

�$��'���&���-�� ����-�% 3����������=���������=�$���������� �����������������%��(F��������7� &���

��& � �� BQ���>� 455<C2� ������ ��%� ��>� �� ���&�%&� ��� ��& �$� ���-�� ���� -���� %��� ��7� &���

��& � �>�&���-��%�����������+�������-�% 3�()����& �$>�����$����������$�(F�����& � �>���= % ����
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���� ��+���� ���M� &���� D��$�(F��� *��� �J ����� �%����  %� #,����� &�%�& �%���� ���� � =���%(���

��& � �E�B���b>�4555������	�����>�455A>��2�A:C2����������& �$�- �>������&�%&� �����& �$�'�

���� =����� ����&,= &�� ��� &�%���� �� +���� ���� ��� ��� -����� ��& �$� ��� �������>� �� ���� �� ���

&���&���,�� &��� + �$"- &��� �8��� &�$���� �>� ��"�� ��� ��*��$�� ��(�>� %�� &���� ��� �=�����&�%��%����

B.��������>�455:C2�

�%�)�>���*���'���& ���]�����$�#�����& ����������������%������������� %��*������-����

�J ��0%& �� ��� � =���%���� ��(��� K���%��>� &��� � =���%���� *��$ ������ ���� �� �� K�+ $ �����>� ���

*�� �� � ��& �%��� ���� ������ K ��7�*� &�� %�� ��& �����2� 
����� =����� ��� ��& ���� ���7� �� ��

��"J ����������� ���� (F��>� &��%(��� �� �J��&��� #��2��%�)�>� �� ��& ������������%)�� ��������

����� %�@� '� &�%����,��� ��& �$��%��� ��� �&����� &��� ��� -������ ��& � �>� ����(��� �� �������

B.��������>�455;C2�


����&����������& �����%#�$#������ ����������� �����>��������"� ���������� ���� ()��

 %��� ����>���= % ���&����Z���&�%&� ��[>������&���������%�������(F���&�%&�����>���%�� %����

&����Z� �&� � %�()�[>���� ����= % �������.� ���)����

�

����  ���� � 3���� *��� �� � �&� � %�()�� ��& �$� &�%� ���� %�� �������%��� � =���%& �$� ���
��������+�������%��  �� �������(�>�����%��� ��$�&���������%���-��������
���������
�������
������ 
������������������ $���>� �����&�%&� ��� ��� �� ���%��� �� &��%(����'# ��
B���&�%&�+ ��C� %��� *��$ ������ ���� �>�  %��$�&��� �>� =,� &��>� ��,*� &��>� ��� ���'� &���
����$-�'�>�+�������%�� �� �������(�2�/�������#0>������&�%&� ����������% =���������
��!�� ��� ����� #��+�$� �����#���� ��� ��+$ &�>� ��!�� ��� ����� &���������%��$>� ��%���
*��� �"� %����� P$� ��� &���� '� ��=�� ��� &���� ����
��������� B.��������>� 455;>�
�26:>�-� =����������C2�
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Q�!�>�����(F������� �&� � %�()����& �$��)����� + ������$���$�- �$�(F���+��� $� ���>�!7���

���&�%&� ���%)�2�
����&�%&� ��>����� ���������� # �������+!�� #�>������%)����� �J��������%���

��% =����(F�������(F���&���������%�� �>������ ��& �%����������(F���*����&�+��������J&$� ��

��� �=���+��� $� ���� ��� -������ ��& � �>� %�� ���&����� ���&�& �%�$>� ��� ����(��� �� �����(F��� ���

���+�$K�>��%����������2�

�%���� ��� �������� ��+��� ���&�%&� ��� �� � �&� � %�()�� %�� ���� $>� ��� ���*� ����

����%#�$# ���� ���� ��-�� ��� B69:<C>� ��& "$�-�� +��� $� ��>� �������� *��� �� &��� ��� ��$�� '�

������ %�%���%�� ��%� = &�()��������&�%&� ��>�������$�()��������(���%�-�� ���>�&���&��� 3����

&����Z���&�%&� ���������&�[2�� =���%���������&�%&� ���*�������+���#��%������������% ���>�

*����J&$� ����������%&���������&�%�������-�����'�% &������� -����=� &�%�>�&���&��� 3����&����

Z���&�%&� �������� -��[2�
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699GC>� ��� ��% =������ ��+� � =���%���� �+����-�%��� ��$�� ����0%& �� ��� �� $�&�$� ��� *��� ���

�%&�%���>�����%��������� �������%����&� ��@���&��-���=�� #�>����*���������(���%�-�� �������

����� -���)��������������$������� ���� �@������$�(F��� %��������� �����*������=��%�� �������

&��� �)�� ���� ���@� �� &�%�& 0%& �� ��� � �&� � %�()�>� *��� ��� ������%��� ��� ��� �&�%���� %���

&�%=$ ��������$�(F�����& � �@�����# ��%�����$,� &����������������& �$>�= &�%��������&�%&� ������

��(��� �=��(������+������&$������>���������������>��%=��*��&�%��������# ��%�������$���@����

�������������>����*��>�������&��������K�+ $ �����>���#��7�-�$-�����������(�������*�����!��

��&�%K�& ��� ���= �� �%�$��%��� �� �&� ��� %�� -����2� ��� �>� �� &�%&� ��� ��� ��(�� %�� ���� $� ����

&������=��0%& ��������(���=,� &�����&�$���� �2�

�

������� $>��%�����%��>���&�������= $K���������= % �����& �$��%����������� %� # ���$�
�� %����%��%��������� �>�����%�������� ������>������J���$�>�-��������= $K��+��%&��
��� ����%�>� &���� ����� ������%������ =�%"� ���� +��%&��2� 
�� ��!�>� %�� ���� $>� ����� ��
����0%& �� =,� &�>� ��� ���&��� = � �%R� &��� �� ��& �&�$���� �� *��� &�%��#��� %��
&$��� = &�()�����&��>���%)�>����� -����������&�%�0%& ��B.��������>�455:>��2�AGC2�
�

� �%��%���*��>�&�%K�&���������&������� =���%����-���(F���������*� ����%������ $���+���

�� ���7� &�� ��& �$>� �!���� %��� �%7$ ���� ��� =����()�� ���= �� �%�$� ��� �=���+��� $� ��� %��� � ���

���� �>��%�)��#���������%������& %����%������&�%&��(F�����-�% 3��������������*� ��2�

��� ���,���� �"����&��# �)�� ��  %,& �� ��� �'&�$�� UU>� &���� ����$����� ��� ���*� ���� ���

������ %�()�� + �$"- &�� �� &�$����$>� ��� �=���+��� $� ���� ����� &�%� ��������  %� #,����� &���

&���&���,�� &���=,� &��� %=�� �����O��&���&���,�� &�������+��%&��2�� %������ -���A<� B6:9;������

�/Qi��/�>�4556C>������&�$�������� & %�������K �>�'�&�%� ��������������$�������&��%(�����

 %=�� �� �����+ �$"- &��%������ $>�*��� �����J�$ &����&������%������ =�%R��%�����%�����3�2�

�%=$��%& �������� &�%&��(F��� ��& ����>����� -���� ������%�����%�-��� &���� ��������=�������>�

�� � � #����� %=�%� $ 3����>� %&���3����������%#�$#��������� %�����=�%(F����� ���$�+���������

&����������� ���� ()������������- %�$ ����2�/����������&���)������������*� ����%�� %,& ��

��� �'&�$�� UU>� ��� �=���+��� $� ���� �������%���� ���� ����(�� %�� =����()�� ��� ����$�()��

+��� $� ��2�


� D ���$� ��� +��%*�����%��E� ���-�� &���� ���� ��,��� ����� &�%�� �� �� ���� ����$�()��

+��� $� ��� ��� %)�� %�-���>� ����$����� ��� � ������ ��& �$� �%���� ��� +��%&��� �� ��� %�-���>� ���

&�����%���� *��� ����$������ ��� = $K��� ���� (��2� �� ���� �� ��� +��%*�����%��� ���-�� &��� N�)��

�������������������������������������������������
A<����������$ #���D�����(���K���%������������%��+ $ �������%�$�%������ $D>���+$ &�������6:9;2��
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��� ���� ��&����AG� B6966� ����� �/Qi��/�>� 4556C>� &��� �� &��%(�� ��� ��� +��%*�����%���

-���$� ?� %)�� �"� =,� &�>� ���� ���+'�� ����$� �� ��& �$2� ��  � -��()�� ��� ��������� =� � ����

�$���%�� #�������=����������%�#������$�()���������%�()�2����$�- �$�(F�������$,� &���#�$�������

����� ����%���� �� ����$�()�� ��� +��%&��� �� � % � 3��� ��� ���(��� ���� %�-���� %�� ����$�()��

+��� $� ��2� ���� �� �� ��� ����%��>� ��  ���$� ��� +��%*�����%��� ����#�� �� �� #�$����� %��

� �& -�%�()��+ �$"- &�>� %�����-�%��>� &��������� & ��()������ �����������. $+��������T��AH�

B69AA�������/Qi��/�>�4556C>��# ��%& �������� �& -�%�()��&�$����$>�!�%���&������ ������

Z����&��& ����& �$[2�


� � ��� ��� Z����&��& �� ��& �$[� ���� ����  �� �� *��>� %�� ��& ������ +��� $� ��>� ����

��& ��������$� ���& �$>���� ��$�(F��� ��& � ������������%����������&��� &���%��2�������*� ����

����%#�$# ���� %�� ���,���� ���� �%��� ��� 69A5� ��'� ��� �%��� ��� 69H5� ���&�%� ����#��� ��

���&�%&� �������� �&� � %�()����& �$������ +�,������&��#�$������&�%&� ��������(��������J�$ &���

�� -��%��� &�%&�%���()�� ��� %�-���� �� ���� (��� %�� +���� ��� K ����*� �� ��& �$2� 
�� ���+$�����

&�%� �����������������+����%#�$# ��%��>���=�$�����������-��������=����()�����= �� �%�$2����

�� �� ������,�����������*� ���>���� ������Z����&��& ����& �$[�����D ���$����+��%*�����%��E�

� %K��>������+!�� #�>����%�� � �������������� ����,���>�*���%������ $������$�(F�����& � �������

K����% ����>� ���� &�%=$ ���2� N7� %��� ���*� ���� ����%#�$# ���� ��� ��� ��-�%��� ����%��>� ���

&�%=$ ����%�����$�(F�����& � ����������������+!����������*� ��2����'�>�������%�$ ������������ ��

����&�%� (F���&� �������$���������������Z&$�������& �$[A:>�����&�%���� 3������J ��0%& ���������

Z����&��& ����& �$[�BQ�������.>�455GC2�

����� Q���%+�$-� B455GC>� ��  �' �� ��� Z����&��& �� ��& �$[� ��=��(��� �� ��� -��$����� ����

�=���+��� $� ���� &��� �� �����%��� ��� ����$�()�2� ��� ���*� ���� �� ��� ��$,� &��� ������ ���,����

&� ����� ���� � ���()�� ��� �&�����()�>� �� �� ���&�%&� ��� �� �� � �&� � %�()�� ��& �$� %)�� �����

&�%� �������� &�������+$��������� &�%=$ ���� ��& � �>� $�#�%���������%=��*��& ��%����������

 ��%� �����&�$�� #���%��������=���+��� $� ���2�Q���%+�$-�B455G>��2�4A9C���&��#��*���
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���=��(�����������&���+��%&��%����� ����������,#�$>���������&���()����& �$������(��
����&�����&���������	��������� ��%�$ ���������&��>� $�#��������� =��-��%��()������
 ��%� ������ ��& � �2� ���� ���� #�3>� ����� =��-��%��()�� ���7� ��$�& �%���� &��� ���
� = &�$������ ����%#�$# ���� %�� &�%����()�� ����  ��%� ������ &�$�� #��� +������� ���
&� �'� �����& � ����&������+� J��-���������$ � 3�()�����&�%=$ �����& �$�B-� =����������C2���

�������������������������������������������������
AG���������������D��+���������� (��D�������%�����%���� �� ���/�%-�������%���%�& �%�$�������(��>����69662��
AH� ��& "$�-�� �� ��&� ���� +��� $� ��>� *��� ��� ����� �+���� $ ���7� ��� ������%��� �� %�-��� %�� ���� $>� �����&�%������ ��
��+$ &�()�����69AA>�D/����.��%���j���%3�$�E2������
A:���� �' ������������������&$�����������J2��
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����� ����&��� *��� '� &���&���,�� &�� ��� ���&�%&� ��� ��& �$� %�� ���� $� '� �� =�$��� ��� ����

��-��� %�� ���&�%�0%& �� ��& �$>� ��� *��� �� ���&�%&� ��>� �� �	�	��� ��& �$>� %)�� %�&����� ���%��� '�

�������� ��� �� � ����� = $K�2� ������ ������ =����� �+���#����� ���� ���# %� Q��� �� B69<4C>�

�%����"$�-������ &�%�� *��>� ���+�$K�%���&����� &�%&� ��� D-�������� &��E� �� ��%��������%�����

&�%&� ��������(���� ��#�$���������������%7$ ������+ �$�- �>��%��%� ��*�����D-��������&��E�%��

���� $� %)�� =����#�� ���� ��(�>� ���� Z&$����� ��& �$[� � �>� ���� %)�� ���� ��(�� B.��������>�

455:C2���-� %�������� $ %K�>���%�$��� ����%� B69<4C>�&�%� ���������� �%� ���%���������������

��$�(F��� ��& � ��%������ $>�����%#�$#����������*� ���������� ��������+$�������Z&$�������& �$[�

��%���� ��� ���&����� ���  %����� �$ 3�()�2� 
� &�%&� ��� ��� ��(�� ���� ��+��� %���� O� ���������� ���

&$������>�&���������%#�$# ��%������&�� ��$ ���>���&� �'� �������(��%)������� ���� �������%���
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���'�>����  %� #,��������� ���()�����D�J&$��)�E�%)��= &�������%���%���&�%� (F���*��� $K���
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/�+�����$��+��&��>����*��$ = &��>�����=$�J,#�$�������$ 3����&������%�#�����&%�$�- ��2��
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�$�������������=����  %� # ���$>�%�� ���$ ����>�%)��'�� ��$����%�������*����)�����D�'� ��E>���

� �>� ���� *����)�� *��� ����$��� ��� ���������� ��� ���&���� ��� ���+�$K�>� &���� ���+'�>� ���

K ����*� ��*��������%��������������������& ������&�� ��$ ��������� �&� � %�()��&������-������

��+��� %����>� %&$� %����*� >�����=���+��� $� ���2���%%����B455G>��2�659C>���&��#��*��>��

�

�� +��&�� ���� ��� �F��� ����%& � �� #��� �� ���� ��� ���!���� %�&���7� �� ���  �� �� ���
��� ��&��& �2����# ������������&�%&� ��������(�>�&$�������-0%���>�����& �����������
�� J��� ��� �J�$����� �� ��$�%��� ��� ������ ��� ����� ���+���>� ��� ��=��(�� *��� ��#�� ��
=�3��2��

�

��� �������� �&�+��� ���� � ��& �%��� ����� � � �� �����%��+ $ ����� &��� ���� =����()��

���= �� �%�$>���������$ 3�(F�����=������(F������= �� �%� �>�%���� �� �����*��>�&�+����� %� #,����

D��%������� ������������� &�����0%& �>� ��� &����� � # �����%�����&���E� B�����>�4559>��2�

6AHC2��*� �%)������ �&�������&�%� (F���������+�$K������*��$ ��������# ������ %� #,���>��� ���

��%��>����� =���%����=������������&�%&� ���*������)�������%����%����%���������+�$K�2��� �� ��

������ ��&��& �>�D�+�=�E�������+$�������# %����������&�%&� ������ �&� � %�()����& �$>�������

K ��"� &�������� -��$��������������% ������%����%���������+�$K����%�����&�()����&�$��2����>�

�� *��� &�%� %��� &����� �&����� '� �� ��������� ��� �����-�+ $ ����2� ���� ���+�$K�� ����%������

����� �����>� �� � �&����� ��� �����-�� &���� � �� ��� ��& �$� =� � ��+�� ��,��� ��$�� �J��&��� #�� ���

�����-�+ $ ����2�

�

�� -���%� �� ��� �����-�� &���� � �� ��� ��& �$� B�� ���� ��=���� &���� ��*� � ��� ����� ���
+�������������&�%�� ��������# �����$,� &�����7#�$C������%&K������� �%����������
%�#�� ��������� ��� �����-�+ $ ����� &���� &���& �����  %� # ���$� ����� � ������� ���
$ � ���������� + $ ��������� %���()��*��������&�����=���&��B.��	���>�455:>��2�:9C2�
�

�$'����� ���&�%� ������ ��� � =���%(��� ��� ������% �����>���� #����� ��$�� ��� -��$�����

�������������������������������������������������
;6������ ��&��& ����=�����������'� �������&����������� %�����=�%(F����������(��>���%���&�������Y��������*���
$K��'�����& ��>���$��������&�����0%& ����8���%,#�$������&�$�� �����B�����		>�455GC2�
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��& �$��������&�%&� ��>�����������&���*���%)�����7�&�%� �������%��� �&�����*�����-�����$"- &��

�������������&�� ��$ ����'�����$�()���%����#�-���������+�$K������������*���+��&����������(�����

���+�$K������%�����2��� J)��B455A>��2�65;C>������&��#�����+���������%#�$# ��%���K���%����

��� ��$�(F��� ��& � �>�� 3�*��>�D�����$ �()�������&�$�� 3�()���������$�()�>������ ��">�%)��&� ��

#�-���%�����&����������+�$K�E2����������������&�� ��$ ����%)������ + $ ������+�$K������������>�

%��� ������&�� ����� ��� *��� �0�� +��� ��&�$�� ����2� 
� *��� ��� ������%��� '� ���� �����#�� ���

���+�$K������� &��� �%� %�� ����� ��>� =����()�� �'&% &�� ��� �J��� 0%& �� ���= �� �%�$>� *���

&�%&��������$���#�-���������+�$K�2��


�%,#�$������&�$�� ���������=����()�����= �� �%�$��)��=�������*��� %���=�����%���&�����

��������-�>�%���%��%��>�%)���)�������� %�%���2�
������=����������� & ������������$�()�>�&����

���=��������#�-��>� %� &�(F��;4�����'������>��= % ������&�$���� �2����������P$� ����� ���(F���

��� �=���+��� $� ���� ������%������� &��� ���#�%��-��>� ���� #�3� *��>� �� �� ��� ������ ����

��� % ���������� �)�� +��%&��>� &��� &���&���,�� &��� &�$���� �� �� #,%&�$��� ��& � �� � ���%���� ����

 ��%� = &�(F�������� �� ���������$�()���=���+��� $� ��2�����&�$K����������������>����# (�����

�����-���� ����� %)�� ������ ����& ���� �� ���� &�����0%& �� ��� *��$ = &�()�>� �� � �>� �� ����

 ��%� �������& �$�����& �$2��� J)��B455A>��2�65<C���&��#��*��>��

�

	�%�������� -��$�������& �$�%������ $�&����-����� %��= ��7#�$�&����%�%�����& �$>�
+��� &���>� *��� �� &�%7� �� ��� ����-%�()�� �&�%R� &�� �� ��� ������ ��� *��$ ����� ����
�������%�����&������� ���+�$K��?� �,� &��������,���� $ +���$�?��=��������=������� ��
 %��%� #��!������%������=������&�%��%��2��
�

��� ���*� ���� ��� �� J)�� �������� *��� ��� ,%� &��� ���� �=���+��� $� ���� %�� ���&���� ���

���+�$K���# ��%& ��������� =���%(���%�������%�-������+��%&��2�������� =���%(������)�������%����

%�� ���+�$K�� �� ��� ���&�()�>� ���'�>� �� ��� -��$����� ����%��� %��� &��-��� *��� �J -�� ��� %,#�$�

�� ��������&�$�� ����>�&����%� %������� ���������& �$ 3�(F��2��

�

����� ��%%���� B455GC>� ��� %�#��� ��&%�$�- ��� ������ �������%���� ���� ������&� #�� ���

 %&$��)����& �$���������-��������%���=�#���& ���������� ��������$ �()��������� + $ ���������

�����%& ��%��� ��� -������ ��& � �� � =���%���� ��� ���� -����� ��� �� -��2� ��� ��� $���� �$��� ���

������%����&�������� + $ ���������&�%K�&������� =���%�������= ��F��������� =���%��������(���

��� ���&�()�� ���= �� �%�$>� *��� � ��& �%��� �� +��&�� ���� ���� =����()�� *��� $K�� ���� + $ ��� ��

�������������������������������������������������
;4� V��%��� �� �����-�� ��� �����()�� '� ����$����>� ���+'�>� ���  %=$�0%& �� ��� ���� ������>� *��� � ����� ���
 %� ������%��>�������%������&�%� �����������&�������#�-��������+�$K�2��
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 %���()�� �������(���*���%)��'�&���������� ����-���������� -��2���������>������� ����(��>�

&�%� %������%����� # $'- ������������$ ��>��� �����������K���%���������-����>��$'���������

���$ ����>��%#�$#�����������*������������������ %� &�()������ �%��()��������������(������

���+�$K�������=����()�����= �� �%�$���&�$K ��2��

�


�����% ������&���� ��������=���&���������= $K������� # $'- �����# ����������� ��
=�� $ ��� �� ���� ������ ���&�& �%� �@� �� �� # $'- �� � � %� � �� %�&��� ����� ��� ���(���
������'- ��2� ������ K���%��>� ���$��� �� =�����>� ���� ���� *��� �*��$��� *��� ���)�� %��
�$��������&�$��$ ����&����������%��@����������&�%�� �������������������-���%(��*���
� � %������%�&��� ���������$�%�!���%���������'- &����� $�%-�����3�� B�����		>�
455G>��2�HGC2�
�

��� %�#��� ��&%�$�- ��� �� �� ���$ �()�� ���� ���� + $ ������ ���  %���()�� %��� ������ ���

&�%������K���%��>�����������#������=�#���& ��%��������=���+��� $� ��������������&�$K�����

���$ 3�(F��� ��� =����()�����= �� �%�$>� �� �%��%��� ��  %� &�%�������� ����(��� ��� ���+�$K�� �� ���

=����()�>� ���'�>� �� ���&�%&� ��� ��& �$� =�3� &��� *��� �$-�%�� -�����>� �� ���� #�3��>� ����!���

=�&K��������������=���+��� $� ���>�$ � ��%����������� & ��()����&�%�� �� ()�����������K���%���

*��� =�#���(��� *��� ����� ���$ 3�(F��� ��� =����()�� �� ����()�� ���= �� �%�$� �&�%��(��� %��

�����%��>�= &�%���&���������%K�>���������������$�%�!���%������=�����2��

/�����*���=� �������%����>�$�#����&�%� ������*���������� + $ ��������� %&$��)����& �$�

����=���+��� $� ���%������$�����&�()�����= �� �%�$>��%#�$#��������& ������*��>�%��&�%��J������

��%���������+�$K��&�%������Y%�����������&�%&� �����& �$>� %&$� ����J&$� �����=���+��� $� ����

�������(�����& � ��*���� ��& �%�������=����()�����= �� �%�$@�*������� ��%�F������ %&$��)�����

&�%�� ����������� ����������%����� #���&����������&�+�������������'- ���*���+��&���������%� ��

���  %&$�,��@� �� &���� ���  ��%� ������ ��& � �� �� ���= �� �%� �� ��� &�%�� ����� ��  %���=����� %�����
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�� =����()�� ���= �� �%�$� � �&�� ��� %����� ���+�$K�� ��� ����� %��� �������� ��� /$�����

��+��� B455<C>� �%��%� ��� &���� ���� &�%����()�� ��+!�� #�� *��� �&����� ��� $�%-�� ��� # ��� ���

 %� #,���>� &�%�� ��,��� �� &�%�� �� %��� ���  ��%� ������ ���� &�$����>� ����+�$�& ���� %��� ��$�(F���

��& � �>�%��&�%� ()����������=���+��� $� ��2��
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/$�������+��>���& "$�-��&�%������Y%��>���&��#����+��������& �$�- ����������= ��F��2�

�����& �$�- ���������= ��F��>����������� $ 3������������ ���� ������������&� #��  %����& �% ���;A�

*���� �&�������&�%����()����& �$����� ��%� �����������&�%���� ����*��������"� &�������%7$ ����

���� ��%� ��������& � �������= �� �%� �2�

������� ���*����+��������&�%&� ������ ��%� �����%�������� -���= $��"= &�>�������%����

����� ��= % (F��� � �� %����� �� ��� ()�� Z����%& �$ ���[� *��� &�%� ����� �� �J ��0%& �� ���

�����%& ��%���� ����%& � �>� &��� � =���%(���  %����>� �� �� �� >� *��� ��= %��� �� � %-�$�� �����

����%& �$� �� *��� �����%�&��7� %�� &�%�� �� ()�� ���  ��%� ����� ��� ������@� �� ��� ������ $���>� ��

��� ()��Z%�� %�$ ���[����Z�J ���%& �$ ���[��*������&�%�������&���� ��%� = &�(F������$�%-�����

# ������������>�D%����&���������K ��"� ��&�$�� #�������# ���������$>����� %�(F�����&���-�� ���

*�������%�������&�%��J��E�B�����>�4559>��2�6;C2���+��������� (F���#����&����%K�������

 �� �� ��� �����%& ��%��>� �� �� �� ��>� $ � ����� ��� ����(�� ��� =��,$ �>� �� �� ��-�%��>� %��  �� �� ���

�P$� �$��� ��  %&�%���%���� ����(��� ��� �����%& ��%���>� ��� *��>� ���  ��%� ������ ����$���� ����

���!��"� ��������� �>���%)�>�&�����������()������-���(F��2�_������ ()��%�� %�$ ����*���%���� ��

������� ����� $ 3�����%��������+�$K����*����&����%K��O���%7$ ����������*� ��2��

���  ��%� = &�(F��� ��� ��� ()�� %�� %�$ ���>� ������ ���� ��� +�,���� ��$��� ������� ���

�� # %� &���������� ������>���%�� %�����&����Z ��%� ����������������[���Z ��%� ����������

� [2����� �� ��>�&�%�� �� ����������$�(F�����& � �>�Z��$�& �%�$[>�������-�%��>�&��������$���������

=����������������$ ����>���%�� %�������Z+ �-�7= &�[2����������$ ����>���������&��+ %�(F��>�

'�*�����+���B4559C��� $ 3���������= % �����=��������& � ����� ��%� = &�()������ %� #,��������

��$�()��&���������������%������()���������# ��>���*������&�%�� �� �%��+�������������%7$ ����

���� ��%� ��������& � �������= �� �%� �2�

_� �� ���� �� ������ ���$ ����� *��� ������ � �%�$ ��%��� �� =����()�� ���= �� �%�$>� &����

���+'�>�������� + $ ���������  %&$��)����& �$������=���+��� $� ���2������������&� #�����*���

��� ��%� ��������& � �������= �� �%� ���)��&�%����,�������=�������+!�� #�>�%������$�� %����()��

��& �$����$�%-��������!��"� �����# ��2��

������ �����.���-������;;�B69A;C>����7������%���%����������������+����*� ��� $ 3����>�

��$�� ���� ��= % ()�� ��� &�%�� �� ()�� ��� Z� ������[� %�� &�%����()�� ����  ��%� �����2� ��

�������������������������������������������������
;A�/����%�����"� &�������& �$�- ��*������-��&�����������������.���-���������*�������&����&�%&� ���&K�#����
 %�����()���%������� %� #,����������&�$�� # �����>���+�������%���$�%��� �+"$ &��B���$ %-��-��C>�*�������$����%��
������������%���������Q��+�����$����>����69AH>�&�����	�
��������������2
�����BQ�.��		�>�699<C2�
;;�.���-������� '� &�%� ��������� =�%��������� �%����& �% ����� �+"$ &�>� ���� ���� ����& �()�� &�%���%��� �%���� ��
 %����()������ %� #,�����&�������,�+�$��>�*����$��&K�������$ %-��-��2����%�& �%�$ ��������� &�%�>�������%��
��&�$�����/K &�-�>��� ��� ������%��>�%��7��������� &�$�- ����& �$2��
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&�%�� �� ()�����Z� ������[�'����������>�����&�%����()�����-���� #�>���& �$��%���&�%����,���

�� ������ %���� ��$���  %����(F��� ��& � �� %�� &���% &�()�� &��� ��� ������� �������� ����#'�� ���

$ %-��-��;<>���= % ���&����Z %����()��� �+"$ &�[�B����>�69A;C2��

�������������>���Z %����()��� �+"$ &�[����&�%�� �� ������0��� =���%�����������%��# ������

 %� #,���2� �� �� �� ��� ��%�� %���� &���� Z������ � -% = &�� #�[� '� &�%�� ��,��� %�� ��+ �%���

=�� $ ��>����*��>���&� �%(���������3���*�������%���%���������(�������& �$ 3�()�2�����-�%��>���

Z������-�%���$ 3���[>�*��%������&�+�������-����*���&�%�� ���������-�% 3�()�������& ��������

������ ��  %&�����7�$��� %��� ��$�(F��� ��& � �� ����#'�� ��� $ %-��-��2� 
%��� �� &�%����()�� ��� Z� �

�����[� '� ���&���� ��$��  %=$�0%& �� ���� �� ������ ���� ������� �������� *��� =�3��� ������ ��� ����

&�%#,# �� ��& �$2� �� �� ���&� ��>� '� *��%��� ��  %� #,���� &����  %��-��%��� �� #�� ��� ��& �����>�

������� ��� ����$� ����� ���� ��&�%K�& ��2� ��� ��&�%K�& ��%��� *��� �&�%��&�� ��� -����� �� %��

-����>� ����$��%��� %�� Z� ������[2� _� %����� ���&����� *��� ����� ������%��� �� � �$'� &�� �%���� ��

Z� �[�����Z��[�*���&�%�� �� ���Z� ������[>��� ��%� �������& �$2�
�Z� �[�'���*����� %� #,����'�

������ ������$K�����������>����� %=$�0%& �������� ����& �$>���&�%=��� �����&�����-����������

������&�%K�& ��2�
�Z��[�'�������()����� %� #,����%���� ����& �$>����&�����$��������&�+��%�����

-����>��� %&������()��������' ����%���������=��������� &�$�����$�� %� #,���>�*��������$�#���

%�������= ���()��%��-����>�&�������+'�>����� -%������B�����>�455<C2��

_��� %� # ���$ �����*���&�%�� �� ��� %� #,���>�������������������*��>�����& �$ 3�()��

#� �������&����� %� # ���$ 3�()�2�V��%����� ������= ����%������ �$'� &���%����Z� �[�����Z��[>�

�� �� ��  %� #,���� ���7�  %��-����� ��& �$��%��2� 
� *���  ������� %�� ���&����� '� ����� ���$��

��# ��%�����$���*�� ����� %� #,�������������� ��������%�����& �$>������&���&���,�� &��>������

�����������>���� ��%� = &���&������� �������%� ���������$�&����$��B����>�69A;C2�

/������ �$'� &���%������ Z� �[����� Z��[>�*�������$���%��>� Z����������� +� (F��[� B��*���

#�&0�'�%���$K�������������C���Z�������������%& ��%��[�B��*���#�&0�*�������C>����� + $ ���� �&�� ��

������' ����� +�,������& �$��%�������=���+��� $� ���%������(�����=��,$ �>����&���% ����>����

��&�$����%����%���������+�$K�>�����������������>�����=��������� &�$������&�%�� �� ����Z� �

�����[>������ ��%� ������B�����>�455<>��2�6AGC2��

��-� %��� �� ������&� #��  %����& �% ���� ��� &�%����()�� ����  ��%� ������ �� ��& �$ 3�()�>�

	K����� ��&M��%%� �� ������ ���-��;G� B69H;C� �����&��� �� ��& �$ 3�()�� %�� &�%����()�� ����

�������������������������������������������������
;<��)���,�+�$���*��� �0����������� -% = &������������  %� #,������������������ %������& �����>�����%�������
-�����>���$�#���>�= -�������������2��
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 ��%� �����>� ��-�% 3����� ��� �� �� ����%���>� ��� Z��& �$ 3�()�� �� �7� �[� �� ��� Z��& �$ 3�()��

��&�%�7� �[2�����& �$ 3�()���� �7� �����7���$�& �%����������+�����&�%����,���>�&�%�� �� %�����

Z��%���# # ��[>���  %���%�$ 3�()���������(��>�#�$����>�&�$��������&�%K�& ��%����$ � ���������

����(�����=��,$ �2�_������,�������*�����&� �%(��# ���$ 3��������%�����������= ��)������� >�

�)�>�� �>��#R>������!�>��$-�'�����������%���*����$����� ��2���� �>����������&� #������=������

��������+�$K��D���$ 3���������K�� 3�%���*��� ��$ &�������%�����& �$�����&,= &�E�B���.���

j���/b����>�4559C2��

N7���Z��& �$ 3�()����&�%�7� �[�'��� %��� �� 3�()�����&�%K�& ��%����*����)��&�%����,����

������ ����� %�� �� (F���&��������&�$�>������+�$K�������&���% ����>�*���$�#������*� � ()�����

��+����� �� ���' �� � #��� = &����>� *��� %��� &�%� (F��� �� %�� =�������� �- �� ��� &����  %� #,���>�

���� & ���� ��� =����()�� ���= �� �%�$2� ��� � =���%����  %����(F��� ��& � �>� &�%�� ��,���� ���

����(��� ��� ��& �$ 3�()�� ��&�%�7� �� ������ ���� � ��& �%����� ���  %=$��%& ����� ��$��

��& �$ 3�()�� �� �7� �>� &���� ���+'�>� ������ ������� &��� &�%K�& ��%���� &�%����,���� ��'�

�%�)�>� %=$��%& �������$���%�#�������(��������& �$ 3�()�2��

�

_>� ��� =���>� -��(��� O� ���%�=����()�� ����,#�$� ����  ��%� ������ %�� ��& �$ 3�()��
��&�%�7� ��*������������&�%������������$�(F�����& � �� %��� �� 3�����%����&���������
��& �$ 3�()�� �� �7� ��� �� ���� + $ ����� ��� &�%���� �� ������� ��%���� *��� %)�� ���
 %��� �� 3�����%��  %=Y%& �� =�%�����0J �������,#�$�������� ���%�=����()����& �$�%)��
������������B�����>�455<>��2�64HC2�
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�� �����$K��� ��� ��& �$ 3�()�� �� �7� �� �%����� ���  %����()�� &��� ��� �����$K��� ���

��& �$ 3�()�� ��&�%�7� �>� ���#�&�%��� *���� �%���%���� �� ���%�=����(F��� %�� Z��%��� # # ��[>�

*��� % & �$��%������&�%�� ��,��%�� ��- %7� ��&�%����,���&���+����%������(�����=��,$ �������

&���% ����� �� �� ��"J ��2� /��� �� ��& �$ 3�()�� ��&�%�7� �>� �+��� ����(��� ����� %�#���

�������%��(F��>� ��� *��� ��� ������>� &��� ����� &���&���,�� &��� ��% &����& � �>� &�$���� �� ��

�&�%R� &��>����� + $ �������� =����()�����= �� �%�$�%)�� �����������>�*�������������#��� ��

��+ $ �������& �$���%�#�������(������ %����()����& �$2��

����� ���-��� �� ��&M��%%>� �� &�%����()�� ����  ��%� ������ �� ���� �� ��� ��& �$ 3�()�>�

&�%� ��������+'��*��>��������(��������& �$ 3�()��=�3���������������$ ��������# ���&�� � �%�>�

*�������� - %��%����%����%�����%���()�>������������%������� =���%����-������������J ��(F�����

� ��Y%& ���*��%���O�� ��%�)������& �$���� �������$2���� ��%�)������& �$� ������$�()��&�����

���������������������������������������������������������������������������������������������������������������������������������������������������������
;G� ��& "$�-��� &�%������Y%���>����������-��� � ��	K�������&M��%%>� ���� &����  %�������� ��� ��������*� ���� ���
*����F������D���$ ����D������D&�%K�& ��%��D>����*��>�����& �$�- �����&�%K�& ��%���� 3� ����� ���O��%7$ ������
&�%����()����& �$�������$ ����2���
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� ��%�)�� ��& �$� �� '� =�& $��%��� �J�����$����%�� ��& ������ &�%������Y%��>���$�� =�& $ ��������

���$�&���%�����&���% &�()�2� N7���� ��%�)�� �������$�'�  %��,%��&�����  %� #,���>�*���  ��F��

��*�0%& ��� %�� ���� # ��� &�� � �%�>� &�%�� �� %��� ���� ���!��"� �� ��� # ��2� 
�� ����(��� �� ��

��"J ���� �)�� ��� ����(��� ��� # ��� &�� � �%�>� ��� =��,$ �>� ��� &���% ����>�  -��!�>� ���

��&�$�� 3�()����������+�$K�2��

�� $ %-��-��� ���+'�� ��� ������%��� ����� ���-��� �� ��&M��%%>� &���� ���� & ��%��� ���

&�%����()������ ��%� �����>�*��>���������#�3>�!7��J �����%�����$ ��������# ���&�� � �%�>�������

�� �� ��$�>� *���  %� #,���� ����+�$�&�� ����� ��$�(F��� ��& � �� �� &�%�� �� � �����  ��%� �����2� _�

����#'�� ��� $ %-��-��>� *��� ��� &�%������� �� � � = &�()�>� ��� =����� -�%���$ 3���>� �� ���= $� ����

�������� ��� ��� -����2� 	 � = &�()�� '� ��  �� �� *��� ��� =�3� ��� �����>� %��� � =���%���� � ���� ���

��$�(F�����& � �2��

�

�����$ ��������# ���&�� � �%��&�%�'����*������� � = &���������������������*�� ��
�����������)������%� ��>���%�������+�$�& �������������&����D$ �����E�&����$��2�
e222f� 	����� ������ � � = &�(F��� �=����� &�%� %����%��� � %K��  %����()�� &��� �� ������
B���.��@���/b���>�4559>��2�;9C2�
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��+��>������&��#�����+���Z ��%� ����������� [���Z ��%� �����������������[>�������%������

��*������� � = &�������&���������&�% ����&������%��������� �����&�����>����*�����

�

��� &���-�� ��� ���� &�$����� *��� ���#��� �����  ��%� = &��� ��� ������� �� ����� ���
���� ��%� = &��� �)�� #�� 7#� �� ��%��� ��� �&����� &��� ��� ����(��� ��& � �� �%��� ���
�J��&��� ���  %����(F��>� &���� ��� �&����� &��� ��� �������$ ������ + �-�7= &��� ��
K ��"� &�������������%��$���������!��"� ���B�����>�455<>��2�6;5C2�

�

�����  %���=��0%& �� ���� ��*������ � � = &������>� �- %��� %�� ���$ ����� ��& �$� ��� # ���

&�� � �%�>� ����� �# ���� �� ��$�& �%���%��� &��� &������ �������>� -������ �� $�-����>� ��$��  �� ��

� � = &���� *��� ������ ��$�>� �%��� ��� ������%���� ��� � ���()�� ��� ���&�%&� ��� *��� $�#��� ��

� �&� � %�()�2� ��� ��*����� ��� � � = &�()�>� �%&�%������� �� � � = &�()�� *��%��� ��� ���= $�

���= �� �%�$�������������������&�����&���������% �>�-0%��������� -�����& �$>�*����&�+������

����� %- �� ��� ���� + $ ������ ��� &������ �J��� 0%& ��� ���= �� �%� �2� 	��+'�� ����� �J �� �� ��

� ���()�� ��� *��� �� ��"�� ��  %� #,���� ���  %=$��%& �� ��$�� � � = &�()�� ��� ���= $� ���= �� �%�$� ���

������ %����� ���= ��F��� �� %)�� ��� ��+ $ 3�� ����� �� ����()�� ��� =����()�� ���= �� �%�$� �������

���= ��F��2��


����� ������ *��� ������ � �� $ 3�%��� ����� �%�$ ���� ��� ������ ��� ���*� ��� '� ������� Q�$$�
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 ��%� ��������-��&�����%����� #��*������������=�3����� >�������� ��- %7� �>����*���+��&������

���%)�����2��

�

��$� �$���%���&�%����,�������$�%-������ �&�����>���7� &�������� (F���*������������
&��3��� �� ���� �%��-R% &��2� ���  ��%� ������ ���)�� ��!� ���� �� K ���� � 3�()�� ��� &�$>�
����%��� &�%���%����%��� ��� ���&����� ��� ����%(�� �� ���%�=����()�2� e222f� ���
 ��%� ������ �)�� &�%����,���� ��%���� �� %)�� =���� ��� � �&����� �� %"�� ���& ������
&������%�0�$���&���������3 ������� $�&� ��K ��"� &�����  %�� ��& �%� ������&,= &��>�
%��  %��� ��� ��� =����(F��� �� ��7� &��� � �&��� #��� ����&,= &��>� ���� ������'- ��� ��
 % & �� #�������&,= &���BQ���>�4555>��2�65:C2�
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��������%� ��>���� ��%� �������)��&�%����,������$�� %� #,����%���������������%��(F��2�

��� &���� ���� �=���+��� $� ���>� ��  ��%� = &�()�� ��� ���� �=���+��� $� ��� ���7� �����%��� ��� ����

���!��"� �� ��� # ��2� ��� ���  ��%� ������ ���)�� ��$�& �%����� ���� ���&������ ��� �������%��(F��>� ���

��$�(F����%�����������(������&�%# #0%& ��%�� %��� ������� ����������������%��(F��>������=� ���

 ������%��� ��+��� ��� =������ &���� ���  ��%� ������ ��& � �� �� ���= �� �%� �� �)�� &�%����,���� ��

&�����$������&�%�� �����%������=����()�����= �� �%�$2��

���� �������� ���$ 3����� ���� ��+��� �� ���� �� ��� ���� ��� *��� �+������ �� &�%����()�� ����

 ��%� �����>����������$�+�������*����������%7$ ������������������������� ��%� ��������& � ����

���= �� �%� �2������� *�����>� ��� &�%�� �� � ��� ���$ ����� �� ���� &��+ %�(F��� �%����� Z ��%� �����

����� ������[� �� Z ��%� ����� ����� � [@� ��� Z���&����� ��$�& �%�$� �� ��� ���&����� + �-�7= &�[@� ����

Z����������� +� (F��[������� Z�������������%& ��%���[@���� Z���%��()���+!�� #���%����  ��%� �����

��� +�,��� ��  ��%� ������  %&���������[� ����� Z���%��()�� ��+!�� #�� �%����  ��%� ������K�������� ��
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%�� �� �� ��� ��� � ������  %�� ��,��� �� K ����*� 3���2��$�� ��� &�%���" � ��+� &��(F��� ���
 %��-��()��%���  %�� �� (F���� �� =��,$ �>� �� ��&�$�>� ��� -������ ���= �� �%� �>� ��������2�
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��� Z���%��(F��� �+!�� #��� �%����  ��%� ������ ��� +�,���� ��  ��%� ������  %&���������[��

D	��%��(F���Z�J���%��[��%������ %� #,����������������� -% = &�� #��>�# ��%�����%�����&���������
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��$������ ����� + $ �����������������%�������������$�#���>�%)���)������,#� ������������ ���2�

��� ������K�%��B455<>��2�;45C���&��#��*���+��&��������%����������������%������&� ����*���

�)�� ����,#� �� ��� ������ ���%�������� ��� ��$�#���>� *��� D�$�+������� �� �������� &��� �� *��$�

�������� &�%# #��� �� ��*��&����� �� #���%��� �� *��� %��� ����&��  %� -% = &�%��� ��� ���

&�%# #0%& ��%)��������7#�$E2��

��� �>� ��� �%���# ����� ����� �� &�$���� ��� ������ ��� ���*� ��� =����� �$�+������� ��

&�%��3 ���� &��� *����F��� *��� +��&��� ��� $��+��%(��� ��� *��� �� �%���# ������ # #�%& ��� �� ���

&� ����*��� $K��= 3�����=�$��>�&������������������&�%��J������&������$���� =���%(�������$��

�J&$��)�2�_� ����+��&��%�����"� �� ��� � ���(F��>� �������>� ����(��� *��� ���� & ��������� ����

=����()�����= �� �%�$������� �����������&� #�����%�������2��
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���%����� #��� =������+� ���� ����#'����� �%���# ���� ��� ������������>� �%��� ���*����F���

%)�� � %K��� ���� ��*�0%& �� ��'������� %���� �� =����� ��%��� ���$�+������� ��� �&����� &��� ��

%����� #��*��� �����&�%���� %�������%������%���# ���2�������+������ ���$ +����������&�%����()��

��� %����� #�� ��$�� �%���# �����>� �� �%���# ���� %)�� =� � � ��& �%���� &��� ���-�%���>� �� � �>� &���

*����F��� ��� � ���� D=�$�� ��+��� #�&0� �� &���� ���� ���� =��,$ �� ������ ����  %=Y%& �� ��'� ��� � ���

���� �E@� D&���� =� � ���� # ��� ��&�$��E@� D=�$�� ��� ������ ��� $�-����� �� ��� ���+�$K��� *��� !7�

����%#�$#��>� &���� �� ���*��� =� � ���+�$K��� %�*��$�� $�-��E2� ��� �>� �� �%���# ������ +��&�#�� ��

��$�& �%�#��%�� ���� ���!��"� �����# ��>���*��� � %K����%� �������� �$�� ��� =�$������ ���� =����()��

���= �� �%�$2�

/���� ��� %����� #��� �������� O� ��+!�� # ����� ��� *���� ���7� ��%��� �%���# �����>� �$-��

������$>�+��&�����������+ �%���*���=�#���&�������$ +�����������J�����)������&�%= �%(�������

=�$�������������!��"� �����# ��2���%���*���D����$�()�����&�%= �%(��%)�����7�������������� %,& ��

��� &�%#����()�>� ���� #� � ��%��� ���&�� �� ���&�� &�%����,���E� B��.
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�%&�%����>�������+�������%����� #��>�=��������$ 3��������� =���%��������%���>������*����$'��

��������� ��� $ +�����������J�����)�>� � #����������+ �%���*���=�#���&�������&�%����()�����

%����� #�>��+���#�%���*��>��
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���� ������ #��>� �$-�%�� �+!����>� *��� =�3��� ������ ��� &� J�� ��� ��&����(F��� ���
%�������>� ��� ��$��� ��� =�$��>� ��� ��$�(F��� &��� �� =����()�� ��� �����  ��%� ������
��& � �� �� ���= �� �%� �2� �)�� &���� %P&$���� ���7� &��� *��� &�%�&���� ������ %����
-��������K ��"� ����� %��� 3�������P$� �$���� -% = &�����B	�����>�4554>��2�65HC2��
�

�%�)������%&�%������&�%��&���������&�����&�����%�&��� ��������&�����%���# ������>�

&�������#�� �()������������0���%&�%����2������ �� �������%���=� �������%���������+!�� #���

������*� ��>������� %������ %=����(F�����������$�����%���# ������%�����$ 3�()����������2��� �

������%��������&� �������� ���()������%&���!���%�������� ��$����������%���# ������&���(���

��&�%�����������!��"� �����# ��>��# ��%& �%�������&������$�& �%�����O��*����F���������*� �����

��������%�����$���#�� 7#� ����������&�%� �������>�=��,$ �>���&�$�>����+�$K����&���% ����2�
�

��-�%�������%���=� ����� � ��*������%���# ������=�$��������%���%��������%����*������- ������

���� �����=�$�>������� ����%��� %�� -���%�#���=�$��������&���$���%�������*����F���������*� ���
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��"J ����%���# ���2��

/���������'��������*� ���*��$ ��� #�>����� %��%()����������3 ��������*��%� ��� #��>���

*��%� ����� ��� �%���# ����� =� � ������ %���� �� ���� �� ��� �� %&,� �� ��� ������()�� *��>� ��-�%���



�

�

��

/K��$��� B4555C>� �&����� *��%��� ��� =�$��� ���� �%���# ������� %)�� �&���&�%����%���� ��� %�#�� O��

*����F��� ��� ���*� ��2� 
� *��� ���#�$�&��� %)�� =� � O� *��%� ����� ��� �%���# ����>� �� � �>� ����

�������%��� # �����&���=�$���*���������%�������$���%����*���&�%�� +�,���������������%�������

*����F���&�%��� �>�$��+��%���*��>��
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� �'����� *��$ ��� #�� ���� ���� =�%()�� &������%���� �� �� ��� *��� ���&��#���
� ������ &���%������������ ���%)�������#�>��� �>����&�����=�3���&���*����$���� -���
�� �� ��� *��� ������ ��+��� �� &����� *��� %)�� '� ���2� ���� ������ $���>� ��� ����$������
��#��� ���� ��-�$����%��� &��3����� �� &�%=��%������ &��� �� *��� '� �+� ��� ���� �������
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%��� &������ �� 7����� ��� ���= ��)�2� ������ ��� ����$������ �+� ���� ��� ���*� ��� ��&���%��$� *���
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��-�% 3�()�� ��� ��.�>� �-���� � �� ��%�� %� � ��� �=���+��� $� ���2� �%���� ��� �$�%��� �=���

+��� $� ���� ���� &�$����� %��� &������ �'&% &���  % & ����� %�� �%�� ��� 455G>� ���� & ������ ���
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*������ *��� %)�� &�%&$�,���� �� &����>� &�%� �������� &���� ��� ���%���2� �� ��&�$K�� ����

�%���# ������� �&�%��&��� �� ���� �� ��� $ ���� ��� �$�%��� ��� ��&����� �� �&��0� &�� ��� ��&�$�>�
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*��� =����� &�%� �������� %��� �%7$ ���� ���� %����� #��>� ���� #�3� *��>� ������ �)�� &�%����,���� ��
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�� $ 3���������������#����� ��%� ���������������2��
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6%-�!���N�%��������4;��%��>�������� ��%� = &���&������������'��$�%���-���������&�����	'&% &��

��� �� = &�(F��2� �$�� �� ��� ��0��  ��)��� =����� &� ����� ��$�� �)�>� *��� &��� ���&�� ��&�$�� �����
;:���+�$K���&����#�%���������+�$�%��������# (������$ ���3�2�/�%# #���&������� >�*�������

-�� ��� ��>���'������ ���%������ ����>����� ��%)����#���� ��%��,& �����$�2�/���(��������+�$K���

��� ���'�� &�� �� ��� +�+7� &��� 6;� �%��2� Q�!�� ���+�$K�� &� ��%��� ��� &� �%(��� ��� ���� &��&K��

��% & ��$���!�%���&���������� ��)��>������%�������)����������� �� ��)�����%�������� ����2��
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����� = &�(F��2�� $K������� ���%�$=�+����>�&���(��������+�$K���&���:��%�������%-��J����������

6;� �%��� &��������� ��>� ���= ��)�� %�� *��$� ����� ��'� K�!�2����  %=Y%& �� �������� ��'� �� ;m� �'� �2�

/���������� ������ ��= $K���!7�-��������>������%��O����&�()���7� &�� %&�%� #������$���= $K�����

�������������'���*� � �������� %-�������%��&������'&% &������� = &�(F��2��
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�%",$�����$������A5��%��>�������� ��%� = &���&������������'��$�%���-���������&�����	'&% &��

�����-���%(��%��	��+�$K��&���&�%&$��)��%���%�����455G������ ���%������&������'&% &�����

�� = &�(F���  % & ���� %�� �%�� ��� 455G2� ���  % & ��� ��� &������ �'&% &��>� !7� � %K�� =����()�� ���

� &�%& ���������������2� N7�&�%&$� ����&������������& �$ 3�()�������-���%(��%��	��+�$K����

���+�$K��%����������� % ����� #����������2�_�= $K������%���# �����������2��
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	'&% &�� ��� ��-���%(�� %�� 	��+�$K�� �� ��� &����� �'&% &�� ��� �� = &�(F��2� V��%���  % & ��� ���

&�������'&% &���!7�� %K��-�����()�������� % ����()�������������2����������6<��%���*��%���

&���(��� �� ���+�$K��>� ����� %�� ������ ��� % ����� #�� ��� ��������2� 
�� �� �� �)�� ��*��%���

������7� ���������������&�$�� ���������%� %����%����%��$�&���$���2��
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�%'.$ �� ���&��� ���� ;H� �%��>� ��� ���� ��%� = &��� &���� %�-��� �� '� �$�%�� �-������ ��� &�����

	'&% &�� ��� �%=���7� &�2�� $K������� �� �%�$=�+������������-��������-��%���� =�3�%���2�����
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&������ �� &��� = $K��>� =� � *��%��� = &��� ��+�%��� ��� �J ��0%& �� ��� =�&�$������ �P+$ &��>� # %���

�������& �����������������2����&�%&$� �����%� %���'� ��=� �����#����%��&��������� &�%& ������
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=����()�����&������'&% &�2��
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�����2� /���(��� �� ���+�$K��� &��� 6H� �%��� %�� 7���� ���  %=���7� &�>� 7���� ��� ����$� ����()��

���= �� �%�$2�
���� �������������&����&�$�� ����2�
��� �'������ ��������7*� %����-�,&�$�������
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����%=����-��2�� $K������� ���%�$=�+����>������%�����>����� ����+�$K�#��&������� %-�� �����

���)��������'�� &����&� ��%������������= $K��2��� ��J��$������&����������� %��������&�()��

�7� &�>�&���6H��%��2�����+� -��������7� ��������&�%��-� �������-�>�#� �������&���*����

K�!��'�������� ��2�/���6:��%���=�3���&�%&���������-�%��������P��>����������-������$2��
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����%=����-��2�� $K������� �� �%�$=�+����>� &���(����� ���+�$K���������'�� &������6;��%��2�
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&���� ��������� =�3��� &��� *��� ��� �%���# ������� =�$������ &� ���>� �$�+�������� ���� %����� #��

*��� ������%������ �$���%���� ����� �����%���� ��� ��-� %���� *����F���� /���� �� =����()��

���= �� �%�$� ���� �=���+��� $� ���� ��� &�%�� �� � ��� $�%-�� ��� ���� ���!��"� �� ��� # ��]� 
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��&�$�]�/�������������%���>�%���%����� #��������=���+��� $� ���>���� $ � ���������� + $ ������
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������!��"� ������# ��������� ������*�� ������%���# �������&�%������������%����� #������

=����()�� ���= �� �%�$� �� ���� ���� + $ ������ ���  %&$��)�� ��& �$� �)�� ����&,= &��� ��� &���� ��2�

��%��� ��� �>�  % & ��� � &��� �� ������%��()�� ���� %����� #��� ���� �%���# ������>� �����

������ ����%��� �%�$ ���� &���� �� =����()�� ���= �� �%�$� ���� �=���+��� $� ���� ��� &�%�� �� � ���

$�%-�� ��� ����� ���!��"� ��� ��� # ��>� &���� ���+'�� �� ����$� ��� ���&�()�� ���= �� �%�$� %�����

���&����� �� %��� ���� + $ ������ ���  %&$��)�� ��& �$2� ��� %����� #��� �*� � ������%������ ���)��

��-�% 3����>�&�%� ����%��������0��� J���������*� ���������&�%&� �������� �&� � %�()����& �$@����

 ��%� ������ ��& � �� �� ���= �� �%� �@� �� ��� ���� + $ ������ ���  %&$��)�� ��& �$� �� �� ��%��� ���

���+�$K�2��

��� �� �� ��� ����%��� ������%��� &���� ��� �%���# ������� &�%������� ����� %����� #���

*��%��� ���� &�%� ()�� ��� ���� �=���+��� $� ��>� &����  ��%� = &��� ��� � ���(F��� ��� ���&�%&� ��� ��

� �&� � %�()����& �$>�%��%�&��� ��������&���(��������+�$K�������%��������&�()���7� &�>���%���

� = &�$���������=�3�����&��������=����()�����= �� �%�$������%� ��>�&�%� ����%�����������������

��& �$����&�%R� &����������=��,$ ��2��

��� ��-�%��� ����%��� ��� %����� #��� =�$��� ���� ����(��� ��� =����()�� ���= �� �%�$>�

�%#�$#�%���������(�����=��,$ �>�������+�$K���������&�$�>����3�%������ %� &������������ �� ���

�J��� 0%& ��������+�$K���������&�$K�����&��������=����()�����= �� �%�$>���� ��&�������3�%���

��� %�� �� (F������������������=��0%& ������� #�()�����������=����()�����= �� �%�$���&�$��2��

�%*��%��>� ������&� #��� ������ + $ ���������  %&$��)�� ��& �$>� ���&� ��� � J����-�% 3�����

������*� ��>����%����� #������3���������$�()���%����=����()�����= �� �%�$���&�$������� �� �����

�����%& ��%��� �� #�$�� 3�()�� ������$>� ���� =����()�� #�$����� O�� %�&��� ������ ��� ��%��� ���

���+�$K�>����������&� #������=����()����&�$������� %��� �=�()�����= �� �%�$2��

<9<95
��'
%A'$�2'% (,�('$


/�%� ����%���*������%����� #����)��&�%����,���������� �����*���=� �� -% = &�� #���������

������>��������  ��-������� �*���*���������������*���'�����,#�$��������� ��>��%�)�>�&�������



�

�

��

�=���+��� $� ���� �%���# ������� &�%������� ����� %����� #��� ��� ���� �=���+��� $� ��]� /����

���&�+������� ���(F���������&�%&� ������ �&� � %�()����& �$]�V�����$�()����������� ���()�����

�����=���+��� $� ���&�����=����()�����= �� �%�$]��

�

�� M	  (�N
&$'
.$'
�"
%.K$
O"�
-0$N
/
�%( 
&$'
.,%  �
 $.(%,N
&$'
#(-K�('$9P
�




6%-�!������ �>�����&�������&K��*���%)�>�'��� ������&$�������& �$>������ %K� ��2� e222f��� ����
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-�7# ��]E����=�$� ��D� �>���������2E��$��=�$����D1�&0�%)��*�������������= $K�������� �2E����

=�$� ��D������������*� �����>�������� ���!��� ���&� ��� �������%)�������� %�����������������

���� = $K�������% %-�'�2E��$�� =�$����D���&�$��2�1�&0�'�&�����>��������%)����+ �>� ����&K� �

*���#�&0������)����$�� ��2E����&�����3�%�#���%��2������� �>��$����%�����3��������#�%��>�

���*��� ��� ����#�� ���# %��� �$�>� �� ���*��� ��� ����#�� -�7# ��� ��� ��#�� �� ���� ���� ��$K���
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� %����� ���  ���>�*���%)���)���� ���#�$��2��� �� ��>����*����$����&K���*�����������������

��3� ����%���%)������&���& ������������+�&�������%���>����%)��=���� &�����������#�3��� #�2����

=�����+��>�'��������(�>����Z��� ����&�[<5>�%)������+�&������%���2��
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� ���&�%&� ��� '� ��� ��"�� �� ������2� �$'�� ��� ���&�%&� ��� �J���%�>� �� �� %& ��$�

���&�%&� ��� '� ��� ��"�� �� ������>� ���*��� �� ���� #�3��� �%#�$#�� �� %,#�$� ��& �$>� �� ������

�&�%R� &�2�
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� ���(F��� # #�%& ����� ��� ���&�%&� ��� %��� ������� �)�� ���&�+ ���� ��$��� �%���# �������

&���� ��%��� �(F��� ��� #����� ��$�� ���&�%&� ��� ��& �$� �� �)�� !��� = &����� ���� �$��� &����

����$����� ��� ���� &�%� ()�� �&�%R� &�� �� ��& �$2� ��� =�$��� ���� � ���(F��� ��� ���&�%&� ��� ���
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%����� #��� *��� �)�� &�%����,���� &���� ����$����� ��� ����� ��$�(F��� ��& � �� �� ��� =����� &���>�

��+!�� #���%��>��$�����+�$K��&��������# #0%& ��>�&�%���� %�������� ��%� �����2��


����&�%&� �����& �$�%)�������&��&��������� #���������� ���(F���������&�%&� ���*���

# #�%& ��2� ��&�%K�&��� �� �J ��0%& �� ��� ���&�%&� ��� ��& �$>� ���� '� ������%����� &���

�����= & �$ ����>�%)��&���������#�&���������� ���(F���# #�%& �����������&�%&� ������J&$��)�>�

*����)��!��� = &�������$������&�%� ()����& �$2�����%��%��>��������=���+��� $� �����)��HA\<6����
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����$��������������&�����K ��"� &��������&�%&� ��� �� ��-��-�()�� ��& �$2��%�)�>� ���� &�%� ()��
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%�-��� ���+'�2� ���� ��� %)�� �� >� ��� '� ���� ���� ���� ������� �� �� �����,��>� ���� ������� �� ��
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=���� ��� ���� %�-��>� #�&0� %)�� ��� �+��� &���$�����%��>� #�&0� ��-���>� ���*��� #�&0� &�%K�&�>�
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6%-�!��� �&K��*��� %����%���*��� %"�� �������>� K�!�� ���� �>� ���� � %��2���� %)�� #��� %�-��>�

&$����*������2�������������$K��������������#�&0>�����#�&0�%)��������+� J�����&�+�(�2�	���

*�����������*���#�&0�'�����������$����>������������%���+� J�>�%)�� ������2��

�

�R.(%��	 %K���*��$��&� ��>�����&�$�-��>������%K�����$ ��>����=�$�������&�+�$���*���%�%&��=� �

+�% ��������2����>�&�������!7�=�$� ��%���>���� !7�=� ���*� � %�������(�2���%&���� ������� �

���� ���2����%�%&�������#� �%����&�$�2��
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�%",$�� 	��+'�� ���� �� $���� �J���%�>� *��� '� �� ���&�%&� ��� ��� ��"�� �� ��& �����>� ���� ��� ��

���������������+!�� #�>��������=�&�>��������� ��0%& �>����������#� �������2�����������$-�>�

����� �&�%��&���  ���� &��� �$�>� ���� ��� �$�� ���� ��� ����>� ���� � ��()�>� %���� #� � � ���� �$�� ���

�� $K�2������'���# �)��*��������%K�>�*������������������$��%���*���>��$��#� �&�%��-� �>����%)��

=����������%�>��������� ��#� �&�%��-� �2���#���������� ���%��2��

�

���%����� #����J����������&�%# #0%& ��&���� ���(F���������&�%&� �����& �$>�����*���

D���#�&0�$�#�������$E�'�� %R% ������=��*��3�2�/�+����&��������%&�%���������=��������&� + ��

�����&�%&� �����& �$�&���������'- ��� %� # ��� �2�

�P& ��� 3�*��>���# ����������+�������#� ����%���%����&�$�>�=� �-�%K�%����������(��

*���  % + �� ��� �(F��� ��� � �&� � %�()�2� �� ��&�$�� '� ����� �$�� ��� ����(�� ��� ������()�� ���

���&�%&� ��� ��& �$� %�� ��� ��� ��� *��� #� � -�%K�%��� �� ����� ��� ��� -����� ��$�� ���� +���

����#� ����%��� ��&�$��2� N7� ����� ���$�>� �� ������� ���� *��� ���� ��� �+!�� #�� �� ���� ���� ���%��>�

������%�������(F���������&�%&� ������ �&� � %�()�2�N� ��=�3���$�()������� ���(F���# #�%& �����

&��� ���� !� ��� ��� ���2� ��� ��"�� �� &�%����()�� ��� %����� #�>� �%�$ ��� ��� � ���(F��� # #�%& ����>�

���&�+�%��� ���  %=$�0%& ��� ��� ���&�%&� ��� ��& �$� %�� ���� !� ��� ��� ���2� ��� !� ��� ��� ���� *��� '�

��"�� �� ��� ���� �=���+��� $� ��� �� *��� ��� &�%���� �� %��� ��$�(F��� ��& � �� ���&����� ��$��

���&�%&� ��� ��& �$>�&�������+'�>��������-���������� -��>��%����� - %������&���&���,�� &���

&�$���� �>��&�%R� &�������& � ����������=���+��� $� ��2��

�J ���� ���� &�%���� ()�� %�� &�%����()�� ���� %����� #��� ��� ��=�� ����� ��� ���&�%&� ���

��& �$2� ������%���� ���� &�%� ()�� ��� ���� ��+��>� ���� &�%� ()�� ��& �$>� &���� ��� #����� ����

� ���(F�������J&$��)����� = &�$���������+��&����������(��������%� ���2����'�>���������*���

�J �������&�%&� ��� ��& �$2�V��%��� =�$���������&�%&� ��>������� ���3�%��� ����� �J��� 0%& ��>�
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������%���� &���� �$-�� *��� ��#�� ���� ��������� ��$�� ��"�� �� %�-��2� /�+�� �� �$�� �������>� ����

����� �����%)������� J����+����2��

��� =������ &���� ��� �%���# ������� $ ���� &��� ��� � ���(F��� ��� ���&�%&� ��� �� ���

!��� = &�� #��� �%&�%������� ���� �$��� &���� =����� ��� =����$�&������ ��  % + �� ��� �(F��� ���

� �&� � %�()���)���(F��� %� # ��� �2��)������������$�()��&������� ��%� �����&�$�� #���������

�=���+��� $� ��2�
����+$����������&�%&� �����& �$����7�%���������*���������� ����+�$���&������

� ���(F��� # #�%& ����2� 	��3� ����� � � �� ����� ��� ����� �� �����%��+ $ ����� ��$��� �=� ���� ���

���&�%&� ��� ��& �$2� _� ����  %#���)�� ��� ���' �2� 
� *��� '� ��� ���+$���� ��� ������ ��& �$� '�

�+���# �����$����=���+��� $� �����%���# �������&����������+$�������������������������$# ���

 %� # ���$��%��� ���� �$��� ��"�� ��2� 	��3� ���� =����� ��� $� ��� &���� �� ���&�%&� ��� ��& �$� ���

��% =�����%����& ������&�%������Y%��2�
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6%-�!��������&$���()�����&�$�*�� �&����%�-��>��������%)�������&��# �&����&�� ���2��&K��

*���'������ ������ 3���*�����%�-����������� %��$ -0%& �� %=�� ��2���'��&K��*���%��=�&�$�����

��%P��������%�-���� '���%��>�����%)��'���$�� &��>� '���$�� &$����� ��& �$2��)�� ���� &���>����

%�-��>��$�����+�$K������ �� %�� ��>����� �� ���������=�&�$����2��)������&���>��$��#� ����� ��$7�

%��&��� ��2��




N�%�������&�+��*�������=���+��� $� �����)��� %�� ��%���% #��� ����>�����%)����$�& �%��

&����������+$����*�������$�������������&�����K ��"� &��������&�%&� �������-��-�()����& �$>�

�>�� �>���$��&�%� ()����& �$>���$��� = &�$��������&�%& $ ��������+�$K��&�������������2��

������-� %��� ��  �� �� ��-�%��� �� *��$� �� ���+$���� ��� ���&�%&� ��� ��& �$� ��#�� ����

��������� ���� �(F���  %� # ��� �>� ���*��� &�+�� �� &�������+��&��� ���� ����(�� �� %)�� ��� �� J���

�+����� &����� ���&�%&� ��� ��& �$>� ����� N�%���� ��� &����� ��& � �� %�� �% #��� ����� $�#����� �=���

+��� $� ���������&�%� ()����� %=�� �� ����2��)�����3������� ��� ��%� �������������=���+��� $� ��>�

*��� ���� ��� ���� =����()�� ��� $�-���� K ��"� &�� ��� � �&� � %�()�� �� ��� -��$����� ���

������% �����>���%������ �>�%)��$K��'�����,#�$��&� ���������� ��� %���()��������$,� &�������(F���

�= ���� #��� ����� ��� �=���+��� $� ���2� �)��  %���%�$ 3��� ��� *��� ��� ��$,� &��� �= ���� #��� �)��

� �� ������*� � ������%)���7� #������������2�
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�(,�%��������+�$K�#��$7�����,����� ��������%� ������$�=�%��������������)�2����������� ���$�����

=�$����D1�&0����%�����$�=�%���� ���+��2�1�&0�=�3��$-���&����]E����=�$� ��D� �>����= 3����

&����� ��� ��&��()�� �� ��$�=�% ���2E� �$�� =�$���� D��� %)�� ��+ �� � ���� %)�2E� �� %�� =��%��� � %K�� ��

��&� �"� ��*���-��#�#���1�>��%�)�������%�� >������K�������� ��� �������������&�3 %K��������

���=�3���������&� ���*�������� �=�3������+'�2����>�����&K��*������%)��������� ���=,� &��*����$��

���& ��#�����������&� �"� �>�*��� ����&�%����� ��2��$��%)��=�$��� ���>����������%� �� ���>�*������

%)��� %K����+ �� ���*����$�����& ��#�����������&� �"� �2����� %K����&���&���,�� &����������+�$K���

%��&�3 %K�2�




6%-�!��� 	�$#�3� ��!�� ���� &��>� � ��� ��� �>� &K�-�� $7� ��� %�-)�>� ��� ������ �3�$���� ���&���%���

�����-������&����%)���7>����*���#�&0�'�%�-��2�	�$#�3���!��%�������%��>�����%��=�&�$����� ����

%)��'��� ��2�

�

�%'.$ ��_>��J ���2�	���*����� 3�*���%)�>�������*����)���������%�-���O��#�3����J ����&�����

��!� ()�2������-�%����+���#��>� ��'�������%�����������*���&���F������������>�#�&0����&�+��

*��>�*����&���F�>����� �� ���)��+��%&��2������'�*��������%K�����&�+ ��2�e222f��"�%��*����)��

���= �� �%�$� �� -�%��� ���&�+�� *��� ���2� ��� *����)�� ��� &�%# #0%& �� %)�>� ���� %�� *����)��

���= �� �%�$��J ���2�




�,(% �
������%���# ������������-������ %��� ���>����&�%� -�����&�+��� ���>�O��#�3������������

�$K�������#�&0����$��%)������7��� ���&�'� ��2����%)���%��%��>����*�������%��%�������%���*���

��������>������ �*����������()�������%K�2�L��#�3���������� %���������&���J&$�,�������&� ���2�

e222f��"��%)����+��������*�02�

�

6%('�� ���  %,& �� ��� ���� ���+�$K�� &���� -��(��>� %)�� ���� %���>� ��'� '� ��$K��� ���� %�-��2� ���

��&�$�����%)�����&�+�2�
�*���=� �+������� ��=�����=� �*��%������# �������� %��>����*���$7����

� +� �)��������'�����& �����*��������� ����%�-���������>��%�)�>�%)�������� ���� =���%(�2�

	���%�-������� ��������� � ���2��7���*�������#�� ���� ��*����)�� = %�%&� ��2��-���>� ���� %��>�

#�&0������� ��� = &�$�����������������&�%��-� �������-�2������&�%��-� �������-��'��� ��

&���$ &���������2�1�&0� ����*��� ��+��� +������� &� ���>� ����*��� ������ ��� &�%K�& ��%��>�
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���>���������� �>��0��#�3���*���#�&0�%)��&�%��-��>����*���'����� ���� ()�2��)��'��"���$��

*����)�� ��� ���� %�-��>� ���� '� ��$�� *����)�� ��� ��- )�� ���+'�2� ����%��� ��� ��- )�� �$��� �)��

���=��0%& �� �� #�&0� %)�� #� � &�%��-� �� ���� �&� ��2� ����� #�&0� ���+�$K��>� �� %& ��$��%��� ���

=�3�%��>����=�3�%�� �����*� ������- )���)�>����� �� �>�# %���������$����������%7>����$����)��

�� �� ������������������$���$���$72�����>���%���%�-��>����7�+���&$����*������%)��������*��$��

��- )�>��������'����>������$���%)��*���������+'�2�����%�-��>����+'�>�K�!������ �>����#�!��

 ���>�&� ������� �>������$��%)�������� ���&�%= �%(�2��$���������'�������&����>�����#� �������

������� � %��>� ���*��>� %�� �,% ��>� �$�� '� � ��� &���� ��$�%���2� ��� *��$*���� $�-��� *��� #�&0�

&K�-�� #�&0� ���� ����� +���� ��� ����� ���� *��+����2� ��� ������ &�%K�&�%��� #�&0>� �%�)�� #� � ����

� =���%��>�����#� ����������� = &�$������,>����*�����%�-���%)�� %�� ���&�%= �%(�2�e222f��%�)�>����

#�&0�%)������&�%= �%(�>�%)������%���������� %K��*�����" ��#�&0>������#�&0�&K�-���K�!�����

*��$*���� $�-���#�&0�'���%�����3���>����*���#�&0�%)�� ����&�%= �%(�2����� �� ���&� ���*���

�$���������-�%����'>�*����'�����=��,$ �>�����=��,$ ��=�3���*�0]�e222f��$������-�%��������%���

#�&0� #� �>�  ���� '� �� ��� �����%��� �*� >� �$��� *������ ��+��� ��� �%��� #�&0� #� �>� �%��� #�&0� ���

=��������*�����)��������� �2� e222f�	������ % ����()��*�������� �� �������J ������*���'����

%� ��>�������&����������� % ����()�>�&���������������*��������*� ����� %��>�%�����%���>�

���*���#�&0�#� ������� ��� = &�$����������%�����%��������������>���$��*����)���������%�-�����

��$�� $�-��� *��� #� �2� �%�)�>� #�&0� !7� #� � ���� ��%��� �&� ��()�2� �%�)�>� #�&0� ���+�$K�%��� ���

���=�����>�#�&0�#� ������� ��=�& $ ����������&�%��-� �������-�2�

�

��� =�$��� ��� =����()�� ���= �� �%�$� %��� ����(��� ��&�$����>� �� ��� -��$����� ���

������% �����������&��&��������$�������� ����&�%� ()�����&$����� ��& �$>� ������$�()��&�����

���&�%&� �������� �&� � %�()����& �$2����'�>����=�$������ %���()���������()��%�����&�������

���+�$K�>� �� ��$�()�� &��� �� &�%� ()�� ��� ���� �=���+��� $� ��� '� �� �� �����%��>� �%#�$#�%���

&���&���,�� &���=,� &��>�&�$���� �����������������=�� $ ��2�

��� %����� #��� �������� &���� ��� ����(��� ��� ���+�$K�� ���)�� � # � ���� ��& �$��%��� ��

&���� ���� %=$�0%& ��%��+��&���������(���������+�$K����$����=���+��� $� ���2�

1 $��>����������+�$K�%���������# (������$ ���3�>�=�3�&��������������+�$K���%��������

������%� ��%��>�����%)����������%K������$ & �������������(��������+�$K�>�%���������$K��=� �

�=���& ��2�_������ ���()��*���#� ��$'������()������ �&� � %�()��� ��������������������2���

=�$��� ��� ����$��� �� ��� ��=��0%& ��  % +�� 1 $��� ��� +��&��� ������� ����(��� ��� ���+�$K�2� �$�� ���
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��+ $ 3��� ����� =�3��� ��� &�����>� ���� %)�� ����� �$� ����� ��� #�-��� %�� ���&���� ��� ���+�$K��

&�%� 3�%���&�����&�����!7����$ 3���2�

���%����� #��� ���3��� ���+'�������&�%&� ���*��%��� O��� -��� =�� $ ��>� *�����)�� ����

*���=�3��>��# ��%& �%��������&�%&� �����& �$�%��&�%� ()����& �$>��&�%R� &����&�$����$��������

�=���+��� $� ��2�������������=�� $ ��������%���# �������'>��%�)�>����$ � �������������������()��

%����%���������+�$K�2������ ���()��*���#����&����%K�������*���N� ��������%���&����=�$���

���&�%= �%(����%�&��� �������������$-�'��*����� %� *��2��������%����� #��� 3�*�����=�$������

&�%= �%(��'�&����������&�������=���+��� $� ���2��"�*��%���������������% ���������J���������

&�%K�& ��%����'�*�����&�%= �%(���������+�$�&�2��

	��+'�� �����&�� %�� %����� #�� ��� N� �� �� ����&���()�� &��� �� ���&�%&� ��� ��& �$� %��

��&�$K�����&�������� =����()�����= �� �%�$2�/�%� �����*���%�� =����()�������� % �����������

��������� ���7� �� �� � = &�$����� ��� &�%��-� �� �����-�>� &�%� ����%��� *��� �� �� �� �� ����

�����-��������)��+��%&����������&�%&� �����& �$�������������$ � ��������������� %-�����>����

�����������>�������%��������+�$K��������=������&�����������(���%���%)�����7���+���� ������

���&�%&� ��2��)��#�-����&����������� &�%&������P+$ &�2����&��� ���+'����&�$K����&��������

$ &�%& ������ ��� �����7� &�� ���� &�%� ������ *��>� &���� ���=�����>� %)�� ��� �� *��� �%=��%���� ��

���&�%&� ���������� %-������%�����+�$K�2�
��&���������=����()�����= �� �%�$��)����&�$K ���>�

&�%� ����%��������$K�����������% ������*������)�������=�- ��������&�%&� ������ %-�������%���

����(���������+�$K�2�

�� &�%� ()�� ��� ���� �=���+��� $� ��� ���3� ���� =����()�� *��� #��� ���&���� ��$��

���&�%&� ��� �� ��-��-�()�� ��& �$� *��� ��=$���� %��� ����� �(F��� ��+!�� #��� �� �+!�� #��>� ���

 ��%� ������*���$K���)����� +�,��������� ��%� ������*��������$���)������� ���>�&�������+'��

���  ��%� ������*����)��K���������������&�%#,# �� =�� $ �������*����$��*���� ���>� ��  ��%� �����

# ����2���� �>�#� ����&�%�� �� %�����=����()�����= �� �%�$������=���+��� $� �������*� �����2�
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6%('���������������+�$K�#�����%� �����������#�������%K)2�����$�����'�*��>�%����-�%����%��

�������� ���� �>����*�����������#�()�������7� &�>����*������&K�-�#��%�� ��$�������� �2����

���+�$K�#����'�& %&��K����������%K)�� %K��'��&���������K����������%K)�!7�� %K��*����������2�

e222f������� �>�����������#���� ��� = &�$��������*���������������2���� = &�$�����'����� �����

���%������>�K��7� �������%K)�'�&���$ &���������*�������+�$K�>������*����!7�'������ ��>� !7�
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= &���� ��&���$ &���2�e222f����&����� %��-��$�%)������� ��������%&�����%)�>��%�)�>�� %K��*���

���� ��� &����� %����%�2� ��$��� � = &�$������ *��� ��� ��%� � ��� =�3��� �� &����� ��� �-����&�7� ��

����%������ �>��������������+�$K��2����*������&����������� �����%��7��������-����&�7� ���)��

����%������ �2��
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� &����� 	'&% &�� ��� �� = &�(F��>� *��$� ���� �� � %K��
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��& � �� ��� ���+�$K�>����� � �� �%*��%��� ���������� ��� ���� =����()�����= �� �%�$>� �)�� ��������
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���= �� �%�$2�

��� �� �� ��� &���>� �� =����()�� ���= �� �%�$� ��&�$��� '� �+!�� #���� ����� �� �+��%()�� ���

�,��$�����& �$��%���#�$�� 3����>�&�������=�%()����& �$����� �� %()�������#�$�� 3�()�>���D���

&�%K�& ��%���� ��"� &��� �)�� ��� �$���%��� ����%& �$� ��� ������%��()�� ��� � � ��"�� �� �� ���

#�$�� 3�()��������� ��%� �����*���%)�������= %�������� ��������+�$K�E�B�����>�455A>��2�<5C2�

��� ��-�%��� &���>� %�� =����()�� ���= �� �%�$� ��&�$��>� ��� %����� #��� =�3��� ��=��0%& ��

&����������(���������=����()�����= �� �%�$2����'�>���$������&�%� ()����������=���+��� $� �����

�� � %Y� &�� ��� ��%��� ��� ���+�$K�� &�%������Y%��>� %)�� &�%��-���� ��� ����+�$�&���

���= �� �%�$��%���%��7�������=����()�2�����&�%� ()����& ��&�%R� &�>��� %��-���%(�����%)��

���+�$K�>� �� ���&�%&� ��>� =�$��� ��� ��=��0%& �� �� ��� Z���� %K�[<A>� =�3� &��� *��� �����%�(�� %���

����(��� ��� ���+�$K��� �� �� =�� $ ����� �� ��-����>� �����>� ���� ��$�()�� &��� ���� 7���� ���

=����()�����= �� �%�$���&�����%�������%���()�2�

����������>�*���%)��� %K����������= ��)������+�$�& ���%������(��������+�$K�>��������

���� #7� ��� &�����>� +��&��� ������>� ���%� ���� ��� � =���%���� ����(��� ��� ���+�$K�� ��� 7�����

� =���%��������&������!7����$ 3����2����%����� #���%)��=�3���������$�()������������!��"� �����

=����()�� ���= �� �%�$� �� �� %)�� ���$ 3�()�� ���= �� �%�$� &��� ���� &�%� ()�� ��& �$2� ���'�>� ���

����&����*������������%�����)����"�� ��������������=���+��� $� ���2�

����$�()��*���������&�+�>���� ���!��"� �������&�$�� �����&����� =����()�����= �� �%�$>�

������%��� ����� � ���(F��� � �� %����� �� &����� ��� =����()�� ���= �� �%�$� &���� ��� ����(�� ���

��&�$�� ����>���� =����()���� ���$ 3�()��������$>� �����J��&��� #����������()���������%�#��

���= ��)�@� �� �� &����� &���� ����(�� ����� ���� ���� ���= ��)�>� ����� +��&��� ��� �����%�&��� %��

���&���� ��� ���+�$K�2� �%�)�>� �� =����()�� ���= �� �%�$� ��&�$��� %)�� '� %�&����� ���%��� ����� ��

��%���������+�$K�>������ ��&��������&�%����()���������# ��>�&��������%������+��&������

��&�%K�& ��%���>� %&$��)�>�%�#�������(�����& � ����#�$�� 3�()��������$2�

�������������������������������������������������
<A��������*���������������� ��+ $ �����%�������(���������+�$K����*������������� %� &�(F������= �� �%� ���������
������������>��+!�� #�%�������&��������= �� �%�$�������������� ������� + $ ��������&�%��-� ��#�-���������+�$K�2�



�

�

���

��=����()�����= �� �%�$���&�$���'����+'���������(����������%& ��%��>�&�%� ����%���

����%� ���*������������(����& �$��������������=���+��� $� ���>�*���'��������(��K ���� &���%���

���&������$����-��-�()������� -��$�������& �$���*��>���-�%���U +������B699AC>����������%���

�����������%��()�������%� ���2�	��+'�>�&��������(�����&�%����()�����&�%K�& ��%���������

��&�%K�& ��%���*�������=���+��� $� �����%���# �������+��&���&����=��������  % + ������(F���

������&�%&� �����& �$����������#�$�� 3�()��������$2�
��&�%K�& ��%����$K�����3���������� �������

��� ��()��%������-����>��>�&��� ���>�&�%� ����������$���%�� #�������$ ����&������� ���(F������

���&�%&� ��2�

�� ���&�()�� ���= �� �%�$>� &��� ��� � =���%���� ����%(��� K ��"� &��>� ������� ����#��

#�$����������%�����������%����������&������� ���+�$K�2�Q�!���������������%)��� =������ ����

���+'�� �%���� ����� �+!�� #��>� �� ������()�� ��� ���&�%&� ��� �� � �&� � %�()�� %�� ��%��� ���

���+�$K�� �� ��  %&$��)�� ��& �$� ����  %����'� �� ��� =����()�� ���= �� �%�$� *��� $K�� ���� + $ ���7�

���+�$K�� �� ��+� ��0%& �>� �� ��� �>� #�$�� 3�()�� �� ����� ��2� ���'�>� %��� %����� #��� ��  �' ��� ���

 %&$��)�� ��& �$� %)�� ��������� ��$�� ����()�� ���= �� �%�$>� �� � �>� ��$�� �*� � ()�� ���

&�%K�& ��%���2��%�)�>�%���%����� #��>������&�()�����= �� �%�$�'�� ���������(�����  %&$��)��

��& �$>� ���'�>� ���� ��$�()�� &��� �� ���+�$K�>� &���� �+!�� #�� ��� ��$,� &��� ��� ���&�()��

���= �� �%�$2�

�����%����� #������ %&$��)����& �$��)��&�%����,����&�%� ����%��������&�������$�& �%�$�

*������&�%�� �� ����=�����&�����������������#���������=�����&�����$����������������%����

# # ����%��&�%����()���������� ��%� �����2��� %&$��)����& �$����������%���&�������$ �()������

����(��� ��& � �>� &�%K�& ��%���>� ��&�%K�& ��%��>� ������% ������ �� &�%*� ����>� ��� ����

��& ���������&������$�����&�%&� �������� -��$��������& � �>���&������� �&����� ���$"- &�����

Z����&��& �� ��& �$[2���$���������&�()�����= �� �%�$�&�����������(�����*���������&�+���

 %&$�,���>� ����(�� ��� �����%& ��%��>� ���$ 3�(F��� �� &�%*� ����>� � -% = &�� #�� ����� ����

������� ��2�

�$'�� ��� � ��� ��� Z����&��& �� ��& �$[>� ������  ���$�- �� �����%��� %�� &�%����()�� ����

%����� #���'�*�������&��������&�����������%������������=��(��������$2���� �>�����������������

����� ���%���� O�� %�&��� ������ ��� ���&���� ��� ���+�$K�� '� �����%��+ $ ����� ���  %� #,���>� *���

+��&�� =�3��� #7� ��� &������ ��� =����()�� ���= �� �%�$� �� = �� ��� ���%���� �� ����� �J -0%& �� ���

��%��� ��� ���+�$K�2� 
�  %#��� ��%��� ������$� '� ���� +��&�� ���� �&� ��()�� %�� ���&���� ���

���+�$K�>� �� %)�� ���� �����()�� �� ��+ $ ����� ��& �$>� &��� ��$K��� ����%���()�� �� ��� �������

���= �� �%�$2�
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+���#�����*��>������%3���%���# ������>��� �� !7� = 3����>����)�� =�3�%�����������%����

=�3����� ��������&��������= �� �%�$ 3�%��2��$-�%����$�����*������+!�� #��'�������-��-���#�$���

O��� �� ���=����()�>�������>����*������&������%)���0����$�()��&�����������()��������+�$K����

�J��&��� #��� ��� ���= ��)�>� �� &����� '� ��� ����(�� ����� ��*� � ���� �� &�%K�& ��%���>� �������

� ��& �%���%��� ����� ���� 7���� ���= �� �%�$2� ���'�>� ������ �+!�� #��� ���$ ��� �� $�*��� ����

���� + $ �������������%����%����%���������+�$K�2�

��� %����� #��� *��%��� O� &�%�� �� ()�� ����  ��%� ������ ���= �� �%� �� %)�� �� �� ���

=����$�&�������������!��"� ��P% &��������+�$K�>�%���������%��������&� #��������-�����>�����

� �������P$� �$������� + $ �����������+��&����$���������% �����>����*������������&� #����)��

 ��� ����>� ��� �&����� &��� �� *��� ��%%���� B455GC� ������%��>� ��� =�$��� ��� ��%��� ��� ���+�$K��

&�%������Y%��>� *��%��� ��%& �%�� *��� �� ���+�$K�� ����� &�%���%����%��� �� ��� ������&� #���

��$�& �%�����������+�$K���)�� ��� �� ����>�&�������+'����=�������*���D��� ���������&�& �%�$�

-���� -��%��� *��%� ����� ��� !�#�%�� =������������  �����,#� �� ��� �����-��>� ��$����%��� %���

�����%�����������*�� ��=�������� %����E�B�����		>��455G>��2�:AC2����&���������%���# ������>�

���&���&���,�� &��������%���������+�$K��&�%������Y%��>����������O�����&�%� ()����������=���

+��� $� ��2� ���-�� ��� ����� %����� #��� �� %�&��� ����� ��� ��� ��%���� ��� ��� �����-�� ��$�� ����

����+ $ ����>� ������ ���� ������&� #�� ��� �����()�� �� ����()�� ���= �� �%� �� %�� 7���� ���

=����()�2� _� �� ��-���%(�� ��� ��%���� ���� ��+��# #0%& �� ��� ���� =��,$ �2� ��� �>� #� � ���

&�%���� %��� ���� ��$�()�� ��� ���$ 3�()�� �� �� ��"J ��� ��� ����(�� ��� =����()�� ���= �� �%�$�

��&�$������*���������+�$K����������$ 3�()�����= �� �%�$2�


���������&���*���$�#���������� ���%& ���%����������(��������+�$K��&��������(�����

�����%& ��%��� ��  %&$��)�� '� �� ���&�%&� ��� ��& �$2� ���� %����� #��>� �� ���&�%&� ��� ��& �$� %)�� '�

���&�+ ���%�����$�(F�����& � �����&�� � �%�>�%���������%������(��������&�()����&�$��>�����

%������(��������+�$K�>�� �2�_��%���=�3�����=��0%& ���O��� ���(F���������&�%&� ���# #�%& �����

�� �+���#����2� 
� ���&�%&� ��� ��& �$� %�� ���+�$K�� $�#����� �� ��&�$K�� ��� &������ �� �� +��&�� ���

����(���������+�$K�>��������- &���%����$�%�!����������=�- �������& ���2��������� ��%� �����

&�$�� #�� ��� ���� �=���+��� $� ��>� '� �� �� ��-���� �# ���� �� &�%=��%��� &��� ��� � ���(F��� ���

���&�%&� �����& �$>�+��&�������=�����������+�$K���������+��# #0%& ��*���%)�����3���� ���(F���

*������ =���%& �����$������&�%� ()����������=���+��� $� ��2�

�%�)�>� ��� ����(������ ���$ 3�(F��� ����� &�%*� ����� ���)��%�����&�()�����= �� �%�$>� %��

���$ �()�� ��� ���� =����()�� ���= �� �%�$� �� ��� &�%K�& ��%���� ����� �� # ��2� N7� %�� ����&���
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���= �� �%�$>� ��� ���$ 3�(F��������&��������*���� !7� � %K�������= ��)���%������� =�3�����&����2�

������������ �>�%)�����)�����$ 3��������= �� �%�$��%��2�

������������ ��& ��&�%R� &�������%���# ������� '������� %�%����%������ =��,$ ���&���

+� J����%��>�&������&����&�$�� ������������+�$K������%#�$# �����$����� ���)�����# (���+��(� ��

*��� %)�� �0�� �� ��&�$�� ����� &���� ��*� � ��� ��� �&����2� 	����� &���(����� �� ���+�$K��� � %���

����%��������&�()���7� &�>�����%�&��� ��������&�%�� +� ��&�������%���=�� $ ��>���*���$�#����

���� ���!��"� �� ��� ��&�$�� ����� ���&���� ���� � = &�$�����>� ���� *��>� ��� ������ �����>� ���

������%��� &���� ��� ����(�� ��� ������()�� ��� ���� &�%� ()�� ��& �$2� �)�� %�� ������&� #�� ���

��+ $ ����>� &���� ����$����� ��� ������� ��� ���+�$K�� �� ��� ���� ����%���()�>� ���� ��$���

&�%K�& ��%���� �� ��$�� ���� #�$�� 3�()�� %�� ����(�� ��� �� -��� �� ���� + $ ������ ��� ���$ ��� ���

����(�����������%& ��%���>�����+��&��������&�%K�& ��%��2�

��������%���������%�����%���%����� #���&�����������(����� %&$��)����& �$>����������

��� ���*� ��� ����%#�$# ��� %����&�$��	'&% &���������$� ���� %��>���������*��� �� ��� ��0%& ��

�%���� ��� �$�%��� �=���+��� $� ���� ���� &�$����� '� *����� �� ��+��� *��%��� &��������� &��� ���

���� ���$�%��>� ��#�$�%���*������� = &�$�������%&�%��������������������&�%� %�������&�%���

��������!��"� �����&�$����>���� ��&��������=����()�����= �� �%�$2�

��� � = &�$������ *��� ��� �%���# ������� ������%���� ����� =�3��� �� &����� ��� =����()��

���= �� �%�$�%)��'����%����� %-�����>��������+'�����&�%� (F��������=�3�����&����2��$'�����

��� -��$��������������% ���������&�%����,����&�%K�& ��%����*���=�3����������������&������

��$�� #�����= ����� %-���������%���&�����>���=�$��������&�������&�%R� &�����$�-,�� &��>���� ��

&���� �� �&����%K���%��� ����-"- &�>� $ � ���� ��� �=���+��� $� ���� ��� &�%&$�,���� �� &����>�

&�������+'�>����=�3�����&����������%� ��2��

���'�>� ��� =�$���������� = &�$������ �%&�%������� �����+��&��� �� =����()�����= �� �%�$�

�����%� ��>�%)��=�3�����$�()��&�������&�%� ()����������=���+��� $� ��2�/�+���*� ���%& �%���

*��� ��� %����� #��� ���� �%���# ������� =����� &�%����,���� ���� ��=��0%& �� �� ����  ��%� �����

&�$�� #���������%�-��@��%���>�=����������� ����������+����-��� %� # ���$ ���2��)����������

%���%����� #������� ��%� �������& �$>������ ������� ���()����& �$����&�%R� &�2��#�$ ��*�����!��

����$����>����+'�>�����&�%��J����K ��"� &������& �$������=���+��� $� ����%����% &,� ���%������

����%#�$#�����������*� ��>�� %����	2��� %# � + $ �����*���=� �����������=���+��� $� ����������

�����&��������&�$�% 3�()���������#�$�� 3�()���������� ��%� ��������& � �2�/���������� #�����

����  ��%� = &�()�� &��� ��� -����� *��� '� ���#�$�� 3���� ��& �$��%��]� V��� ������&� #��� ���

 %&$��)����& �$������#�$�� 3�()��������$������ ��%� = &�()��$K������ + $ ��� �]���
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����������>������&�% ��������� �&� � %�()����& �$����)�>�%���%����� #��>����&�������

%������� ���()����& ��&�%R� &�2����%����� #���%)�����3�������&�%� ()����������=���+��� $� ���

&���� �� ������ %�%��� ��� ���� ��+��>� ��� %)�� ���� &�%� (F��� ��� =�3��� �� &����� �����%� ��>� ���

�������� ��� ���,����  %��-��$>� ���� *��� &�%& $ ��� �� ���+�$K�� &��� �� ���&�()�� ��&�$��2� ���

�J��� 0%& ��� ��� ��-��-�()�� �� ��� -��$����� ��& �$� �)�� ������%������ &���� � ���(F��� *���

����$�����������&�%� ()����& ��&�%R� &�2�

��� �%��%��>� �� ���&�%&� ��� ��& �$� '� ����� ��� &���� ��� ���+$���� *��� ���� ���� %��

��& ������ &�%������Y%��2� ���� '� ��� ���+$���� *��� ��#�� ���� ��� % ������� ��$��� �=���

+��� $� ���2� 
� *��� '� ��� ���+$���� ��& �$� �����&�� %��� %����� #��>� &���� ��� ���+$����

 %� # ���$>�*���&�+����&��������# ����*���������-����)������=�� #�2������� ��& �%���%��������

� >���� �����%��+ $ �����*��%���O����% =����(F���������&�%&� ��>����7����&�%��%Y%& ��&�����

=�$���  �� �� ��� *��� # #����� ��� ���� ��& ������ ��� *��� �� Z����&��& �� ��& �$[� ��������� �� ���

&�%=$ ����%)���)����� #�������$�����&�%&� �����& �$>���� �>����Z&$�������& �$[2�

/�%� ����%���*��������������������%������������%����� #�����*���'�� -% = &�� #�������

��������%��()������ �*�������!��=�3��>����7�*������=���>�%)��=�3�������$�()���������&�%� ()��

��& �$� �� �&�%R� &�� �� ��� �J��� 0%& ��� # # ���� &��� ���� &�%� ()�� ��� ���� �=���+��� $� ��� �� ��

���&�%&� ��� ��& �$]� ���� �������&��()�� &���� �=���+��� $� ��� ����&�� ��% =������ ���

�&�$����%��� ������'- &�� ��� ��+��# #0%& �� ��& �$>� �# ��%��� &�%=$ ���� *��� ������� ����3 �� ����

������� ��������������(�����������%& ��%���2�


�%)������� �������&�%&� �����& �$����&�%���� �����%����� #�������������!��"� �����# ��>�

�� &�%���%��� ��$�()�� ��� ����� $ � ��(F��� ����� �� =����()�� ���= �� �%�$� �����%� ��� &��� ����

&�%� ()�� ��& ��&�%R� &������� ����������=��������� ���� ��+��# #0%& �>� �# ��%���&�%=$ ���� ��

+��&�%�������(�����������%& ��%��2����� ��& �%��������$K�������������&�%&� �����& �$>��%�)��

���7������!� ����%#�$# ����������()������-����)�>�*��������7�$�#�����������$�()�����&�%=$ ��2�

����+�$�&���������$�()�����&�%=$ ��������$�#7�$����$ � ��(F����������(�����������%& ��%������

���������% ������%����%���������+�$K�2�

�������(��������&�()����&�$������$ � ��(F����)��!��� = &�������$����� -��$�������& �$2�

N7�%�����+�$K�>����%����� #���=�3�����=��0%& ��������&�%&� �����& �$>���$���� -���=�� $ ��>�����

!� ���������>�����&���&���,�� &��=,� &�>�������&�����& �$2��)�����&���&���,�� &������Z���&�%&� ������

���&�[�������%������������-�� ���B69:<C�*������)�������%����%��=����������-��-�()����& �$�

%�� ���&���� ��� ���+�$K�>� �������� �� ��$�()�� ����� �&����� ������ %����� =�%(F��>� ���

&���&���,�� &��� =,� &��>��� =�$������&�%= �%(�>��������������� =�� $ ��2������%���# ����������$�()��
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�����#�-���������+�$K����������()�>������=���+��� $� ����������������� =���%& �$>�*��� %���=����

����&�����&��������&�%&� ������*����=�3�����$ & �������$�()�2�

������=����>������&�%&� �����& �$������&��%����(F������������-�������*���� ��& �%���

���������% ������������+�$K�>���� ��&��������$����������$�()���%������� ��%� ��������� +�,����

�� ���  ��%� ������ ����� ���� ��$��� �=���+��� $� ���>� ����$��%��� %�� ��&�$K�� ���� &������ ���

=����()�����= �� �%�$�����+��&����������(���������+�$K�2���������%� ��>���+���B455<>��2�6;HC�

��&��#��*���

�

������ ���$ ����� �%����  ��%� ����� ����� �� ������ &�%=�� ��� ��  ��%� ����� ����� � �
&�%����,��>� ���� ���+'�>� �%����  ��%� ����� ��& �$� K������� ��  ��%� ����� ��&�$���
# ����>������ - %�����&������������,#�$�%��*��$��������%#�$#���!7�%�� %=Y%& �>�%��
���$��&0%& �>���%����&���������# ��>����������������'- ��� ��%� �7� ��2�
�
�

��� �>� ��� $�%-�� ��� ���!��"� �� ��� # ��� ���� �=���+��� $� ���>� ���� &�%� ()�� ��& �$� ���7�

�����%��� %��� ��$�(F��� ��& � �� �� %�� =����� &���� &�%���" � �����  ��%� ������ ��& � �� ��

���= �� �%� �2�

�$'�������(F���� �&� � %��"� ���*���$�#������� = &�$������������&������$-�%������(���

������+�$K�������������# ��>�������� ���()�� %=$��%& ������%��=����()�����= �� �%�$������=���

+��� $� ���� '� �� =�$��� ��� ��=��0%& ��� ���= �� �%� �2� _� ����3 ��� �� %P����� ��� �������� �=���

+��� $� �������&��-������-��0%& ����������= ��F�������� ��������,- ����& �$����������%���()�2�

��-�%��� ��+��� B455<C>� �������� � 3��� *��� �J ���� �*� � ��� ���&����� + �-�7= &�� ��� *��� ��

������� ���+�$K�� ��+!�� #���%��� &��� ���  ��%� ������ *��� $K�� �)�� K�������>� ��� ��!�>� ���

��=��0%& ���������������� =�� $ ��>� �����  ��%� ������*���%�� ���� ���!��"� �����# ��� =�������%���

# �����>���*���*�������2����'�>���=�$��������=��0%& ������= �� �%� ������������ %- ����&�%����()��

���� ��%� ������# ������������� #�()���������$ & ������+��&��������� %��������= ��F���*���%)��

�)��&���%���%��������=���+��� $� ���2��

���=�$������������=����()�����= �� �%�$>������&�����=��0%& ������ ���(F�������&,= &���

*��� ���-��� ��� &�%# #0%& �� &��� �$-�'�� *��� ���� ���� �������%��()�� ��� ����� ��>� &���� ��

����������  -��!�>����=�����>�����)�2�
�*�������������������� �� ��������� ���()��*��$*���>����

�%���# ��������=���+��� $� ������ $ 3���&������=��0%& �������������&�$K�����&��������=����()��

���= �� �%�$2����������%�&��� ����������������������*�����������$K��>�����&������=��0%& �������

���� ���= �� �%�$ 3�()�2� ���&�+��� ��� �������� �=���+��� $� ���>� ���= ��F��� *��� ������ ����

�������%K����� ���� �$�>� K ��"� ��� ��� ��&�%K�& ��%��>� ��� &�%*� ����� �� ������(F��2� ������>�
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���+'�>�����$�#Y%& ��������$,� &����= ���� #��>�&������� ��$���%��()������� �652GA985A>�*���

����+�$�&���+� -���� ������%�� &���,&�$����� ���&�()����&�$��� ��  %&$��)�����K ��"� �� ��&�$�����

�=���+��� $� ��>� ���� + $ ��%��� �� #�$�� 3�()�� �� # � + $ ����� ��� ���� K ��"� �� ��� $����� ��

&�%*� ����>� ���� � *��3��� &�$���� �>� �� ��� ����� �����-�% ����>� *��� ������ ��� ���= ��F��� *���

������ ���� ��=��0%& �� ����� �� ��+ $ 3�()�� ���� �=���+��� $� ���� %�� +��&�� ���� =����()��

���= �� �%�$2�������=��������&�%�� �� ����=��0%& ������ � #����������&�%����()������ ��%� ������

��& � �������= �� �%� �������=���+��� $� ���2�

��  %=$�0%& �� ��� ���� &�%� ()�� ��& �$� %�� ����� +��&��� ���� ���+�$K�>� ���� &������ ���

=����()�����= �� �%�$>� ��� ��&������� ���� &�%� ()����� =�3����� &����������%� ��>� ������� ���

*�����+���B455AC���&��#�����+����J&$��)�>�*��������+$��������J&$��)��'��� ����� �����*���

��+���*�����)������J&$�,���@�'����+'��&�%K�&������ %=$�0%& ������������&�����%��# ����������

��!� ���>�&�����������+�$�&��������$�(F�����& � �������&�%�� �� ��������!��"� �����# ���*��>�����

����#�3>�$�#�����=����()�����= �� �%�$2�

����&�����&���Q�$$�B455<C>��� ��%� �����'�����Z&�$�+��()���"#�$[>��������- &���%���

&�%�� �� %��������%���&�$�&��������$�()��&�������%��>��%�)�>���+���*��� ��%� ���������=���

+��� $� �����%���# �������  %�����������������%����# # ���>����# #�%& ��������� -��$���������

������% �����>�������&�%&� ���������J&$��)�2�
�������������,�� &��� ��#�$���*�������+��3��'�

����$��%������� �&� � %�()����& �$2����'�>����%����� #������&�%� ���������������&��>�����%���

���� �� *��� ����K�%�� B455<C� ��&��#��� *��� D�$�+������� %����� %����� #�� &��� �� *��� ��������

&�%# #��>��� J�%������=�$�������&� ����*���%��� %&������E2�

��  �� �� ���  %&$��)�� ��& �$� *��� �����&�� %��� %����� #��� ��������� ��$�� �*� � ()�� ���

&�%K�& ��%���2� /�%K�& ��%���� *��� �)�� +��&����� %�� ���&�()�� ���= �� �%�$>� *��� ���

������%������ ��&�����������(����������%& ��%��������#�$�� 3�()��������$����*������+��&��

�������= �� �%�$ 3�()�2����%����� #���������&�%K�& ��%�����*� � ����%������(��������&�()��

���= �� �%�$�&��������=����������+ $ �������& �$>�&�������$�+���()����������=���+��� $� ��>�

���#�$�� 3�()�������������� ��>���&����=��������Z�� +$��[������&�%&� �����& �$>�&�%= ���%�����

��%��%(��&$7�� &��&� � &��������.� ���)���B455;C����*�����Z��&�%�)����& �$[������3����=� ������

+��%*�����%��2�

��� �� ���&�()�� ���= �� �%�$� '� �� �� ��� ����(�� ���  %&$��)�� ��� *��� ���

���= �� �%�$ 3�()�>�'�%������(��������+�$K��������# #0%& ���=�� $ ����>�%������&�%� ()���������

�=���+��� $� ��>� *��� ���-������ ��&�$K��� ���= �� �%� �>� ����� %���  ������%��� ���� & ��()�� %��

=����()�����= �� �%�$2��
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����+�$K��%)�������&���%*��%���������&� #���������# �����$K��>������ �����������

=����()�� ���= �� �%�$� ����$���� O�� %�&��� ������ ��� ��%��� ��� ���+�$K�>� *��� �������� O�

�����%0%& �� %��� �������� �� ���� #7� ��� =����(F��� ���= �� �%� �� *��� ��� &���$���%���� ��

������% 3������$�*����� ������������% ������������+�$K�������&�%����()�����&�%K�& ��%���2�

�%�)�>��� ���$ 3�()�����= �� �%�$����&�%�� �� �����#'�����&�%K�& ��%�����%)������%�������#'��

������+�$K��������&�������+�%����& ��&�%R� &��2�

��=����()�����= �� �%�$�&�%�� ��,������$�%-��������!��"� �����# ��������=���+��� $� ���>�

�$�%�������&�������'&% &��������&�$�����*� ����>�������%�������&����*����)����"�� ����������

&�%� ()����� ���� �=���+��� $� ��>� &���������&�%&� ��>� �� =�$������ ��=��0%& �����= �� �%�$� �� ����

� ���()�� ��& ��&�%R� &�2� ��� �%��%��>� &�%������� ����� %����� #��� ���� ��$�()�� &��� ��

���&�%&� ���������-��-�()����& �$>�&�������&�%� ()����������=���+��� $� ��2�
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��������������������*� ���*������-�������� %&����������+���#���*�������� ��0%& ��

�%���� ��� �$�%��� �=���+��� $� ���� %�� ��&�$�� 	'&% &�� �������$� ��� � %��� '� � -% = &�� #���%���

�� ��� *��%��� &��������� ���� ���� �� �$�%��� ��� ��&�$�� ���3� �$���%���� ����� *��� ���������

��$K��� &������%���� ����� ���&����>� ���'�>� %)�� ���3� �� ��������� ����� �� ���+$���>� �� � �>�

� ��& �%�� %�#��� *���� �%���%���� &��� �� ���$ �()�� ��� %�#��� � ���(F��� ������%������ ��$��

���*� ��2��

��� %����� #��� ��� =����()�� ���= �� �%�$� �� ���  %&$��)�� ��& �$� ���� �=���+��� $� ���� *���

= 3����� ������ ������ ���*� ��� �������� *��� �J ���� ���� =����� ��+ $ 3�()�� ����� �� ���&�()��

���= �� �%�$���� % ��������%�� ����&�%� ()����� �����=���+��� $� ��2����J��&��� #�����  %&$��)��

��& �$���$�����&�()�����= �� �%�$������������$�� �' �����+��&�����&�%K�& ��%���>�����(������

�����%& ��%���� �� ��&�%K�& ��%��>� ��+����%��� �� =����()�� ����� ���= �� �%�$ 3�()�2� ��

���= �� �%�$ 3�()�� ���� ��=��0%& �� &��� ��� �J��� 0%& ��� ���= �� �%� �>� %�� ��$�()�� &��� ��

���+�$K�>��������&�()�����= �� �%�$�'��� �����&���$���%���������=����()�>�%��������&� #��

���=����()�����= �� �%�$���������%����������%���������&����������+�$K�2������� ��������+�$K��

%)�������&��%���%����� #���������&� #�������+ $ �������& �$������ %&$��)����& �$2��

���+��%���*����������������� %&$��)����& �$�������&�()�����= �� �%�$������������$��

���= �� �%�$ 3�()��*������� + $ ���7���$K�����&�%� (F��������������%����%���������+�$K�>������

�%��� &�� %K��� �%�)�� &������������������-"- &����� ��&�$�]�
�*����� �� 3��]�
�*��� $�#�� ��

���&�()�� ���= �� �%�$� ��� ������%���� ����� ��� �=���+��� $� ���� &��� ����� ������&� #�]� V���

��$�()������&��������%����� #���������&�%&� �����& �$]��
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